SH7¥6E SHRBEDER p- 285

kit HE

ok RESRKIGREE HOKHESR:  KEFKIS IBFE: 2R3B KR ¢ REBIIRRK FH2S5H, FO4SH~5H. BKEH - RS)

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | M| | &9 | 0.20 | MW | 388 | 0.20
2 | me B8 020 | mE& B8 0.20 | |E | B8 | 0.20
| 3 | ®me =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
4 | me B 020 | me | B8 0.20 | |E | EEA | 0.20
|5 | ®me =8 020 | ®E | =89 | 0.20 | |\E | EB | 0.20
6 | me B8 0.20 | ®mE B8 0.20 | |E | B8 | 0.20
| 7 | me& =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
8 | me B8 0.20 | ®mE& B8 0.20 | |E | B8 | 0.20
| o | ®me =88 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
10 | e | 0 | 0.20 | ME: | BBA | 0.20 | W& | BB | 0.20
|11 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
12 | e | B0 | 0.20 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
14 | e | B0A | 0.20 | e | B0 | 0.20 | W& BB | 0.20
|15 | ®& | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
16 | & | #0A | 0.20 | M | 0 | 0.20 | @& | BB | 0.20
|17 | e | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
18 | e | B | 0.20 | M | E0A | 0.20 | W& | BB | 0.20
|19 | ®& | =88 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
20 | me | B8 | 0.20 | e | EEA | 0.20 | e | E8A | 0.20
21 | me | #8020 | ®E | =8 | 0.20 | |BE | EB | 0.20
22 | me | #8A | 0.20 | e | B | 0.20 | e | E8A | 0.20
23 | me | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
24 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
|25 | ®& | =89 | 0.20 | ®E | 8 | 0.20 | |E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | e | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
28 | me | B8 | 0.20 | e | B | 0.20 | e | E8A | 0.20
|20 | ®& | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
30 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
31 | me Bh 02 |~~~
7 MmO o o~ o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.20
BA] 0.20
) 0.20




SH7EE SHREORER p. 286
Bokithea: T=5
[T KEFKIS R KBS : KIEFKIS AIBT5E: 2R3E K B KE)IFTRAK, FH2EH. FO45H~55H. BKEH - RE)
S SHISE
* 48 58 68 78 88 98 108 118 128 18 28 38
2 ‘eE | BE |ERBER| 6F | BE |RBER| 6F | 5 |ERBER| €F | BE |RBEXR| BE | BE |ERBER| €F | BE |RBER| £F | BE |ABER| €F | BE |RBER| €F | BE |RBER| GF | B |ERBER| €F | 8E |%KSBER| BF | BE |RBER
@ | ® [mow]| ® | ® |mon| @ | @ |mow| @ | @ [mow]| @ | @ |mon| @ | @ |mow| @ | @ [mow]| @ | @ |mon| @ | @ [mow]| @ | @ [mov| @ | @ |mon| @ | @ [ mow
1 ]0.17 |0.02  0.46 | 0.14 | 0.02 0.42 |0.16 | 0.02 | 0.36
2 |0.19 |0.02 0.46 | 0.14 |0.02 | 0.42 |0.17 |0.02 | 0.35
| 3 |0.16 [0.02 | 0.44 | 0.14 |0.02 0.42 10.17 |0.02 | 0.35
4 10.16 |0.02 | 0.43 | 0.14 |0.02 | 0.42 |0.17 1 0.02 | 0.36
| 5 |0.15 [0.02 | 0.43 | 0.13/0.02 | 0.42 |0.18 |0.02 | 0.36
6 |0.15 [ 0.02  0.42 | 0.13/0.02 | 0.42 |0.17 |0.02 | 0.36
| 7 |0.15 [0.02 | 0.43 | 0.14 | 0.02 | 0.43 |0.16 | 0.02 | 0.36
8 |0.15 | 0.02 H 0.42 | 0.14 |0.02 | 0.44 |0.16 |0.02 | 0.36
| 9 |0.15 [0.02 | 0.44 | 0.13 0.02 0.44 |0.15 | 0.02 | 0.36
10 |0.14 |0.02 | 0.47 | 0.13 |0.02 | 0.44 |0.14 0.02 | 0.37
[11 |0.14 [0.02 | 0.47 | 0.14 [0.02 0.44 |0.15 | 0.02 | 0.38
12 |0.15 |0.02 | 0.46 | 0.14 | 0.02 | 0.43 |0.15 0.02 | 0.38
|13 |0.15 [0.02 | 0.46 | 0.14 |0.02 | 0.43 |0.15 | 0.02 | 0.38
14 | 0.15 |0.01 | 0.46 | 0.14 | 0.02 | 0.42 |0.16 ' 0.02 | 0.37
[15 |0.16 [0.01 | 0.46 | 0.14 |0.02 0.42 |10.18 | 0.02 | 0.36
16 |0.15 |0.01 | 0.46 | 0.14 | 0.02 | 0.41 |0.19 0.02 | 0.38
[17 |0.14 [0.02 | 0.45 | 0.14 | 0.02 0.40 |0.17 | 0.02 | 0.42
18 |0.14 |0.02 | 0.45 | 0.15 | 0.02 | 0.39 |0.15 ' 0.02 | 0.44
[19 |0.14 [0.02 | 0.45 | 0.16 | 0.02 0.39 |0.14 | 0.02 | 0.44
20 |0.12 0.01 | 0.44 | 0.17 |0.02 | 0.39 |0.12 | 0.01 | 0.45
[21 |0.14 [0.02 | 0.44 | 0.16 | 0.02 0.38 |0.12 | 0.02 | 0.45
22 |0.14 0.02  0.45 | 0.15/0.01 | 0.39 |0.12 |0.01 | 0.41
123 ]0.13 [0.02 | 0.44 | 0.14 [0.01 0.39 |0.12 | 0.02 | 0.39
24 10.14 0.01 | 0.43 | 0.14 |0.01 | 0.39 |0.12 | 0.02 | 0.39
|25 |0.14 [0.02 | 0.43 0.14 | 0.02 0.38 |0.13 | 0.02 | 0.42
26 [0.14 [0.02 | 0.43 | 0.14 |0.01 | 0.37 [0.13 |0.01 | 0.43
[27 [0.14 [0.02 | 0.42 | 0.16 |0.02 | 0.36 |0.12 |0.02 | 0.42
28 [0.14 [0.02 | 0.42 [ 0.17 |0.02 | 0.37 [0.12 |0.02 | 0.43
[29 [0.14 [0.02 | 0.42 | 0.16 |0.02 | 0.38 |0.11 |0.01 | 0.42
30 [0.15 [0.02 | 0.42 | 0.16 | 0.02 | 0.37 [0.12 | 0.01 | 0.42
31 | / 0.16 [0.02 | 0.37 i ﬁ _/
*}191'0.15 [0.02 | 0.44 ]0.15 [0.02 | 0.40 |0.15 [0.02 | 0.39
f%A]0.19 1 0.02  0.47 |0.17 |0.02 | 0.44 [0.19 | 0.02 | 0.45
&/]y0.12 |0.01 | 0.42 |0.13 |0.01 | 0.36 |0.11 ' 0.01 | 0.35
‘eE | EE |KBRIER
@ | ® | mow)
190 0.15 | 0.02 | 0.41
£A]0.19 [0.02 | 0.47
&/]Y0.11 |0.01 | 0.35




SH7¥6E SHRBEDER p. 287
Bokitheg: MR
ok RESRKIGREE HOKHESR:  KEFKIS IBFE: 2R3B KR ¢ REBIIRRK FH2S5H, FO4SH~5H. BKEH - RS)
SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.40 | MW | &9A | 0.40 | M | 388 | 0.40
2 | me | #8040 | e | B8 | 0.40 | fRE | E8H | 0.40
| 3 | ®me =8 040 | ®E | =89 | 040 | |E | EH | 0.40
4 | me B 040 | me | B8 0.40 | |E | B | 0.40
| 5 | ®m& =8 040 | ®E | =89 | 040 | |E | EHH | 0.40
6 | me | B8 | 040 | e | B | 0.40 | MR B0 | 0.40
| 7 | me | =8 040 | ®E | =89 | 040 | |E | BB | 0.40
8 | me | & | 040 | e | B8 | 0.40 | fRE | EBH | 0.40
| o | ®me | =8 | 040 | ®E | =89 | 040 | |E | BB | 0.40
10 | e | B0 | 0.40 | M2 | BBH | 0.40 | & | BB | 0.40
|11 | ®me | =89 | 040 | ®E | =89 | 0.40 | |E | EH | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 040 | |E | EH | 0.40
14 | & | B0 | 0.40 | M | B0 | 0.40 | W& | BB | 0.40
|15 | ®& | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
16 | & | B0 | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|17 | ®e | =89 | 040 | B | =8 | 0.40 | |E | EH | 0.40
18 | e | B | 0.40 | M | BBA | 0.30 | |®E | BB | 0.40
|19 | ®m& | =88 | 040 | W | =8 | 0.30 | |E | EH | 0.40
20 | me | B8 | 0.40 | MmE | EFA | 0.30 | e | B8 | 0.40
21 | m& | #8040 | ®E | =8 | 0.30 | |E | BB | 0.40
22 | me | B8R | 0.40 | e | B | 0.30 | e | B8 | 0.40
23 | me | =89 | 040 | ®E | 8 | 0.30 | |E | BB | 0.40
24 | me | B8R | 0.40 | e | B | 0.30 | e | B8 | 0.40
|25 | me | =89 | 040 | W 8 | 0.30 | |BE | EH | 0.40
26 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
27 | ®m& | =89 | 040 | B | =8 | 040 | |E | EH | 0.40
28 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
|20 | ®& | =88 | 040 | B | 8 | 0.40 | |BE | EB | 0.40
30 | me | B8R | 0.40 | e | B | 0.40 | MEE | B8 | 0.40
31 | mE | B | 0.40
BA] 0.40 0.40 0.40
=1 0.40 0.30 0.40
| & oo PEER
(mg/L)
1 0.39
BA] 0.40
) 0.30




SH7¥6E SHRBEDER p- 288
Bkt W8
ok EXRKIERE KBS BRKIE IBFE: 2R3B KR - RBIIKRK BX1SH~55H. EfM2S5H~35H
SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®E& | &9 | 0.30 | M| | &9 | 0.40 | MW | 388 | 0.30
2 | mrr | B8 | 0.30 | e | B89 | 0.40 | #EFR | B8A | 0.30
| 3 | ®me =8 030 | ®E | =89 | 040 | |E | EH | 0.30
4 | me | B 030 | me | B 040 | MmE | B8 | 0.30
|5 | ®m& =8 030 | ®E | =89 | 040 | |E | EH | 0.30
6 | me B8 030 | mE B8 0.40 | |E | B8 | 0.30
| 7 | me& =8 030 | ®E& | =89 | 040 | |E | EH | 0.30
8 | me B8 030 | mE& B8 0.40 | |E | B8 | 0.30
| o | ®me =8 030 | ®E | =89 | 040 | |E | EH | 0.30
10 | & | 0 | 0.30 | M | B0A | 0.40 | & | BB | 0.30
|11 | ®me | =89 | 0.30 | ®E | =89 | 0.40 | |E | EH | 0.30
12 | e | B0 | 0.30 | M | B0 | 0.40 | W& | BB | 0.30
|13 | ®m& | =89 | 030 | | | =89 | 0.40 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.40 | & BH | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =8 | 0.40 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | E0A | 0.40 | & | BB | 0.30
|17 | ®e | =89 | 030 | ®E& | =89 | 0.40 | |E | EB | 0.30
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|10 | ®m& | =89 030 | ®E | =89 | 0.30 | |E | EH | 0.30
20 | me | ®8 | 0.30 | e | EEA | 0.30 | e | B8 | 0.30
21 | me | =89 030 | ®E& | =8| 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | B8 | 0.30 | Mme | B | 0.40 | e | B8 | 0.30
27 | e | =89 | 0.30 | ®E | =8 | 0.40 | |E | EH | 0.30
28 | me | B8 | 0.30 | e | B | 0.40 | e | B8 | 0.30
|20 | ®& | =88 | 0.30 | ®E | =8 | 0.40 | |E | EH | 0.30
30 | me | B8 | 0.30 | Mme | B | 0.40 | M | B8 | 0.30
31 | mE | B | 0.40
BA] 0.30 0.40 0.30
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)
1 0.32
BA] 0.40
) 0.30




SH7¥6E SHRBEDER p. 289

WoKibR:  BE

Bok35E:  EPHEKIBRER AUKHES::  E#BEELACH NigFE: 1ERES KR ¢ BIK(EBE)

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.40 | MW | &9A | 0.40 | M | 388 | 0.40
2 | me | #8040 | e | B8 | 0.40 | fRE | E8H | 0.40
| 3 | ®me =8 040 | ®E | =89 | 040 | |E | EH | 0.40
4 | me B 040 | me | B8 0.40 | |E | B | 0.40
| 5 | ®m& =8 040 | ®E | =89 | 040 | |E | EHH | 0.40
6 | me | B8 | 040 | e | B | 0.40 | MR B0 | 0.40
| 7 | me | =8 040 | ®E | =89 | 040 | |E | BB | 0.40
8 | me | & | 040 | e | B8 | 0.40 | fRE | EBH | 0.40
| o | ®me | =8 | 040 | ®E | =89 | 040 | |E | BB | 0.40
10 | e | B0 | 0.40 | M2 | BBH | 0.40 | & | BB | 0.40
|11 | ®me | =89 | 040 | ®E | =89 | 0.40 | |E | EH | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 040 | |E | EH | 0.40
14 | & | B0 | 0.40 | M | B0 | 0.40 | W& | BB | 0.40
|15 | ®& | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
16 | & | B0 | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|17 | ®e | =89 | 040 | B | =8 | 0.40 | |E | EH | 0.40
18 | e | B | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|19 | ®& | =89 | 040 | ®E | =8 | 0.40 | |E | EH | 0.40
20 | me | B8R | 0.40 | MmE | B | 0.40 | e | B8 | 0.40
21 | me | #8040 | B | 8 | 0.40 | |E | BB | 0.40
22 | me | B8R | 0.40 | e | B | 0.40 | M | B8 | 0.40
23 | me | =88 | 040 | B | =89 | 0.40 | |E | BB | 0.40
24 | me | B8R | 0.40 | MmE | B | 0.40 | M | B8 | 0.40
|25 | me | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
26 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
27 | ®m& | =89 | 040 | B | =8 | 040 | |E | EH | 0.40
28 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
|20 | ®& | =88 | 040 | B | 8 | 0.40 | |BE | EB | 0.40
30 | me | B8R | 0.40 | e | B | 0.40 | MEE | B8 | 0.40
31 | me B 040 |~~~
o nb o meonb - B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.40 0.40 0.40
| & oo PEER
(mg/L)

1 0.40
BA] 0.40
/) 0.40




SH7¥6E SHRBEDER p- 290

skt AR

Bok35E:  EPHEKIBRER AUKHES::  E#BEELACH NigFE: 1ERES KR ¢ BIK(EBE)

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | M| | &9 | 0.20 | MW | 388 | 0.20
2 | me B8 020 | mE& B8 0.20 | |E | B8 | 0.20
| 3 | ®me =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
4 | me B 020 | me | B8 0.20 | |E | EEA | 0.20
|5 | ®me =8 020 | ®E | =89 | 0.20 | |\E | EB | 0.20
6 | me B8 0.20 | ®mE B8 0.20 | |E | B8 | 0.20
| 7 | me& =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
8 | me B8 0.20 | ®mE& B8 0.20 | |E | B8 | 0.20
| o | ®me =88 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
10 | e | 0 | 0.20 | ME: | BBA | 0.20 | W& | BB | 0.20
|11 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
12 | e | B0 | 0.20 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
14 | e | B0A | 0.20 | e | B0 | 0.20 | W& BB | 0.20
|15 | ®& | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
16 | & | #0A | 0.20 | M | 0 | 0.20 | @& | BB | 0.20
|17 | e | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
18 | e | B | 0.20 | M | E0A | 0.20 | W& | BB | 0.20
|19 | ®& | =88 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
20 | me | B8 | 0.20 | e | EEA | 0.20 | e | E8A | 0.20
21 | me | #8020 | ®E | =8 | 0.20 | |BE | EB | 0.20
22 | me | #8A | 0.20 | e | B | 0.20 | e | E8A | 0.20
23 | me | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
24 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
|25 | ®& | =89 | 0.20 | ®E | 8 | 0.20 | |E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | e | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
28 | me | B8 | 0.20 | e | B | 0.20 | e | E8A | 0.20
|20 | ®& | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
30 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
31 | me Bh 02 |~~~
7 MmO o~ o o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.20
BA] 0.20
) 0.20




SH7¥6E SHRBEDER p- 291

Bkt FEE

BoK3fe: FRRECKIZREE FUKHESS:  SFERRELAKCH NigFE: 1ERES KR ¢ BIK(EBE)

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | M| | &9 | 0.20 | MW | 388 | 0.20
2 | me B8 020 | mE& B8 0.20 | |E | B8 | 0.20
| 3 | ®me =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
4 | me B 020 | me | B8 0.20 | |E | EEA | 0.20
|5 | ®me =8 020 | ®E | =89 | 0.20 | |\E | EB | 0.20
6 | me B8 0.20 | ®mE B8 0.20 | |E | B8 | 0.20
| 7 | me& =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
8 | me B8 0.20 | ®mE& B8 0.20 | |E | B8 | 0.20
| o | ®me =88 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
10 | e | 0 | 0.20 | ME: | BBA | 0.20 | W& | BB | 0.20
|11 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
12 | e | B0 | 0.20 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
14 | e | B0A | 0.20 | e | B0 | 0.20 | W& BB | 0.20
|15 | ®& | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
16 | & | #0A | 0.20 | M | 0 | 0.20 | @& | BB | 0.20
|17 | e | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
18 | e | B | 0.20 | M | E0A | 0.20 | W& | BB | 0.20
|19 | ®& | =88 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
20 | me | B8 | 0.20 | e | EEA | 0.20 | e | E8A | 0.20
21 | me | #8020 | ®E | =8 | 0.20 | |BE | EB | 0.20
22 | me | #8A | 0.20 | e | B | 0.20 | e | E8A | 0.20
23 | me | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
24 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
|25 | ®& | =89 | 0.20 | ®E | 8 | 0.20 | |E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | e | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
28 | me | B8 | 0.20 | e | B | 0.20 | e | E8A | 0.20
|20 | ®& | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
30 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
31 | me Bh 02 |~~~
7 MmO o~ o o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.20
BA] 0.20
) 0.20




SH7¥6E SHRBEDER p- 292

Bkt Bk

BUK3R:  FERKBRE SoKiEsR: FBEKH NigFE: 1ERES KR - BHEISH~25H. BKEFH)

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.40 | MW | &9A | 0.35 | M | B8 | 0.35
2 | me 38 040 | me | B8 035 | mE | B | 0.35
| 3 | ®me =8 040 | ®mE | =89 035 | |E | BB | 0.35
4 | me | B 035 | me | B 035 | MmE | B8 | 0.40
|5 | ®me =8 035 | ®E& | =89 | 0.35 | |E | & | 0.40
6 | me B8 035 | mE | B8 0.35 | mE | B8 | 0.40
| 7 | ®me =8 035 | ®E& | =89 | 0.35 | \E | & | 0.40
8 | me &8 | 035 | me& | B8 | 0.35 | mE | B8 | 0.35
| o | ®me =8 | 035 | ®mE& | =89 | 0.35 | |E | EH | 0.35
10 | e | BB | 0.35 | & | B0 | 0.35 | |mE | &M | 0.35
|11 | me | =8 | 035 | | | =89 | 0.35 | |E& | EH | 0.35
12 | me | B8 | 0.35 | me | B8 | 0.35 | m& | &I | 0.35
|13 | ®me | =89 | 040 | W | =8 | 0.35 | |E | EH | 0.35
14 | me | B0 0.40 | e | B0 | 0.35 | ®E | &M | 0.35
|15 | ®e | =88 | 035 | | | =89 | 0.35 | |E | EB | 0.35
16 | e | B0 | 0.35 | M | B0 | 0.40 | @& &M | 0.35
|17 | & | =88 | 035 | ®E | =89 | 0.40 | |E | EB | 0.35
18 | e | BB | 0.35 | M | B8 | 0.35 | |mE | &M | 0.35
|19 | ®me | =88 035 | || =8| 0.35 | |E | EB | 0.35
20 | me | &8 | 0.35 | e | B | 0.35 | e | B8 | 0.40
21 | me | #8035 | ®E | =89 | 0.35 | |E | EH | 0.40
22 | me | B8R | 0.35 | Mme | B | 0.40 | e | B8 | 0.40
23 | me | #8035 | | | =89 | 0.35 | |E | EH | 0.40
24 | me | B8R | 0.35 | e | B | 0.35 | MmE | B8 | 0.40
|25 | m& | #89 | 0.35 | ®E | =8 | 0.35 | |\E | EB | 0.40
26 | me | B8R | 0.35 | e | B | 0.40 | e | B8 | 0.40
27 | e | =88 | 035 | ®E | =8 | 0.35 | |\E | EH | 0.40
28 | me | B8 | 0.35 | e | B | 0.35 | e | B8 | 0.40
|20 | m& | =88 | 035 | ®E | =8 | 0.35 | |BE | EH | 0.40
30 | me | B8R | 0.35 | e | B | 035 | e | B8 | 0.40
31 | me B 035 |~~~
7 L e e [ [ O o~ o~ o —
Bx. . . .
=1 0.35 0.35 0.35
| & oo PEER
(mg/L)

1 0.36
BA] 0.40
) 0.35




SH7¥6E SHRBEDER p- 293

BoKitsR: Pl

BK36: KEERKIBRE SoKhEsR:  KBELKH NigFE: 1ERES KR KEISH~4SH

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.40 | MW | &9A | 0.40 | M | 388 | 0.40
2 | me | #8040 | e | B8 | 0.40 | fRE | E8H | 0.40
| 3 | ®me =8 040 | ®E | =89 | 040 | |E | EH | 0.40
4 | me B 040 | me | B8 0.40 | |E | B | 0.40
| 5 | ®m& =8 040 | ®E | =89 | 040 | |E | EHH | 0.40
6 | me | B8 | 040 | e | B | 0.40 | MR B0 | 0.40
| 7 | me | =8 040 | ®E | =89 | 040 | |E | BB | 0.40
8 | me | & | 040 | e | B8 | 0.40 | fRE | EBH | 0.40
| o | ®me | =8 | 040 | ®E | =89 | 040 | |E | BB | 0.40
10 | e | B0 | 0.40 | M2 | BBH | 0.40 | & | BB | 0.40
|11 | ®me | =89 | 040 | ®E | =89 | 0.40 | |E | EH | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 040 | |E | EH | 0.40
14 | & | B0 | 0.40 | M | B0 | 0.40 | W& | BB | 0.40
|15 | ®& | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
16 | & | B0 | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|17 | ®e | =89 | 040 | B | =8 | 0.40 | |E | EH | 0.40
18 | e | B | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|19 | ®& | =89 | 040 | ®E | =8 | 0.40 | |E | EH | 0.40
20 | me | B8R | 0.40 | MmE | B | 0.40 | e | B8 | 0.40
21 | me | #8040 | B | 8 | 0.40 | |E | BB | 0.40
22 | me | B8R | 0.40 | e | B | 0.40 | M | B8 | 0.40
23 | me | =88 | 040 | B | =89 | 0.40 | |E | BB | 0.40
24 | me | B8R | 0.40 | MmE | B | 0.40 | M | B8 | 0.40
|25 | me | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
26 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
27 | ®m& | =89 | 040 | B | =8 | 040 | |E | EH | 0.40
28 | me | B | 0.40 | MmE | BB | 0.40 | MmE | BB 0.45
|20 | ®& | =88 | 040 | B | 8 | 0.40 | |BE | EB | 0.40
30 | me | B8R | 0.45 | MmE | B | 0.40 | M | B8 | 0.40
31 | me B 040 |~~~
o nbome—ontb - B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.40 0.40 0.40
| & oo PEER
(mg/L)

1 0.40
BA] 0.45
/) 0.40




SH7¥6E SHRBEDER p- 294

kit BR

k3  LEERKIBRE FoKMES:: L EEKH NigFE: 1ERES KR EBISH~25H

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.40 | MW | &9A | 0.40 | M | 388 | 0.40
2 | me | #8040 | e | B8 | 0.40 | fRE | E8H | 0.40
| 3 | ®me =8 040 | ®E | =89 | 040 | |E | EH | 0.40
4 | me B 040 | me | B8 0.40 | |E | B | 0.40
| 5 | ®m& =8 040 | ®E | =89 | 040 | |E | EHH | 0.40
6 | me | B8 | 040 | e | B | 0.40 | MR B0 | 0.40
| 7 | me | =8 040 | ®E | =89 | 040 | |E | BB | 0.40
8 | me | & | 040 | e | B8 | 0.40 | fRE | EBH | 0.40
| o | ®me | =8 | 040 | ®E | =89 | 040 | |E | BB | 0.40
10 | e | B0 | 0.40 | M2 | BBH | 0.40 | & | BB | 0.40
|11 | ®me | =89 | 040 | ®E | =89 | 0.40 | |E | EH | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 040 | |E | EH | 0.40
14 | & | B0 | 0.40 | M | B0 | 0.40 | W& | BB | 0.40
|15 | ®& | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
16 | & | B0 | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|17 | ®e | =89 | 040 | B | =8 | 0.40 | |E | EH | 0.40
18 | e | B | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|19 | ®& | =89 | 040 | ®E | =8 | 0.40 | |E | EH | 0.40
20 | me | B8R | 0.40 | MmE | B | 0.40 | e | B8 | 0.40
21 | me | #8040 | B | 8 | 0.40 | |E | BB | 0.40
22 | me | B8R | 0.40 | e | B | 0.40 | M | B8 | 0.40
23 | me | =88 | 040 | B | =89 | 0.40 | |E | BB | 0.40
24 | me | B8R | 0.40 | MmE | B | 0.40 | M | B8 | 0.40
|25 | me | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
26 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
27 | ®m& | =89 | 040 | B | =8 | 040 | |E | EH | 0.40
28 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
|20 | ®& | =88 | 040 | B | 8 | 0.40 | |BE | EB | 0.40
30 | me | B8R | 0.40 | e | B | 0.40 | MEE | B8 | 0.40
31 | me B 040 |~~~
o nb o meonb - B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.40 0.40 0.40
| & oo PEER
(mg/L)

1 0.40
BA] 0.40
) 0.40




SH7¥6E SHRBEDER p- 295

Bkt #R

BK36E: VBRI RER FOKMESS:  /)\VBRERKH NigFE: 1ERES KR o IIMISH~35H

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®E& | &9 | 0.40 | M| | &9A | 0.40 | MW | B88 | 0.35
2 | me | B8] 040 | e | B8 | 040 | fEE | BB 0.35
| 3 | ®me =8 040 | ®mE | =89 035 | |E | BB | 0.35
4 | me | B 040 | mE | B | 035 | WM | B 035
|5 | ®m& =8 040 | ®mE | =89 | 035 | |E | EH | 0.35
6 | me B8 035 | mE | B8 0.35 | mE | B8 | 0.40
| 7 | ®me =8 035 | ®E& | =89 | 0.35 | \E | & | 0.40
8 | me | & | 035 | e | B8 | 0.40 | fEE | E8H | 0.40
| o | me =8 | 035 | ®E& | =89 | 040 | |E | EH | 0.40
10 | e | B | 0.35 | M | B0H | 0.40 | & | BB | 0.40
|11 | me | =89 | 035 | | | =89 | 0.40 | |E | EB | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 0.35 | |E | EH | 0.40
14 | & | B0A | 0.40 | M | B0 | 0.35 | @& | BB | 0.40
|15 | ®& | =89 | 040 | ®E | =89 | 0.35 | |E | EH | 0.40
16 | e | #0A | 0.40 | M | B0A | 0.35 | @& | BB | 0.40
|17 | e | =88 | 040 | ®E | =89 | 0.35 | |E | EH | 0.40
18 | e | BB | 0.40 | M | BBA | 0.35 | @& | BB | 0.40
|19 | ®m& | =89 040 | W | =8 | 0.35 | |E | EH | 0.40
20 | me | B8 | 0.40 | MmE | EFA | 0.35 | e | B8A | 0.40
21 | ®m& | =89 | 040 | B | =8 | 0.35 | |E | EH | 0.40
22 | me | B8R | 0.40 | e | B | 035 | e | B84 | 0.40
23 | me | #8040 | B | =8 | 0.35 | |E | EH | 0.40
24 | me | B8R | 0.40 | M | B | 0.35 | e | B8 | 0.40
|25 | me | =89 | 040 | W | 8 | 0.35 | |BE | EB | 0.40
26 | me | B8R | 0.40 | e | B | 0.35 | e | B8 | 0.40
27 | ®me | =89 | 040 | W | =8 | 0.35 | \E | EH | 0.40
28 | me | &8 | 0.40 | MmE | B | 0.35 | MmE | BB 0.35
|20 | m& | =88 | 040 | W2 | 89 | 0.35 | |\E | EH | 0.35
30 | me | B8 | 0.40 | MmE | B | 0.35 | MmE | BB 0.35
31 | mE B 0.35
BA] 0.40 0.40 0.40
=1 0.35 0.35 0.35
| & oo PEER
(mg/L)

1 0.38
BA] 0.40
) 0.35




SH7¥6E SHRBEDER p- 296

oKt KE

i\ ETH oKt - JEAECKREE KRR ESECK NigFE: 1ERES KR o BK(RE)

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.30 | M| | &9 | 0.30 | Mes | 88 | 0.30
2 | me B8 030 | mE& B8 0.30 | | | B | 0.30
| 3 | ®me =8 030 | ®E& | =89 0.30 | \|E | EH | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
| 5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
8 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| o | ®me =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
10 | e | 0 | 0.30 | M | E0A | 0.30 | @& | BB | 0.30
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E& | EH | 0.30
12 | e | B0 0.30 | M | B0 | 0.30 | @& | BB | 0.30
|13 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.30 | W& | BB | 0.30
|17 | e | =8 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|10 | ®m& | =89 030 | ®E | =89 | 0.30 | |E | EH | 0.30
20 | me | ®8 | 0.30 | e | EEA | 0.30 | e | B8 | 0.30
21 | me | =89 030 | ®E& | =8| 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e | B8 | 0.30
31 | me BH 030 |~~~
7 T e e [ [ O o o o —
Bx. . . .
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)

1 0.30
BA] 0.30
/) 0.30




SH7¥6E SHRBEDER p. 297

Bokithea: NS

i\ ETH EORCKE RN E KNGS : gL - KR - BIK(RE)

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.30 | M| | &9 | 0.30 | Mes | 88 | 0.30
2 | me B8 030 | mE& B8 0.30 | | | B | 0.30
| 3 | ®me =8 030 | ®E& | =89 0.30 | \|E | EH | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
| 5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me& =8 030 | ®E& | =89 | 0.20 | |E | EH | 0.30
8 | me B8 030 | mE& B8 0.20 | |E | B8 | 0.30
| o | e =8 020 | ®E | =89 | 0.20 | |®E | EH | 0.30
10 | e | 0 | 0.20 | ME: | E0A | 0.30 | @& | BB | 0.30
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E& | EH | 0.30
12 | e | B0 0.30 | M | B0 | 0.30 | @& | BB | 0.30
|13 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.30 | W& | BB | 0.20
|17 | e | =8 030 | ®E | =89 | 0.30 | |E | EH | 0.20
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|10 | ®& | =88 | 0.20 | ®E | =89 | 0.30 | |E | EH | 0.30
20 | me | &8 | 0.20 | e | EEA | 0.30 | e | E8A | 0.30
21 | me | =89 030 | ®E& | =8| 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e | B8 | 0.30
31 | mE B8 0.20
BA] 0.30 0.30 0.30
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.29
BA] 0.30
) 0.20




SH7¥6E SHRBEDER p- 298

BoKibR:  SE (PR)

i\ ETH BN e RN KNGS : hoRERKGH NigFE: 1ERES KR ¢ RBOKR. HRKR. RELSH~25H

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.30 | M| | &9 | 0.30 | Mes | 88 | 0.30
2 | me B8 030 | mE& B8 0.30 | | | B | 0.30
| 3 | ®me =8 030 | ®E& | =89 0.30 | \|E | EH | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
| 5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
8 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| o | ®me =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
10 | e | 0 | 0.30 | M | E0A | 0.30 | @& | BB | 0.30
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E& | EH | 0.30
12 | e | B0 0.30 | M | B0 | 0.30 | @& | BB | 0.30
|13 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.30 | W& | BB | 0.30
|17 | e | =8 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|10 | ®m& | =89 030 | ®E | =89 | 0.30 | |E | EH | 0.30
20 | me | ®8 | 0.30 | e | EEA | 0.30 | e | B8 | 0.30
21 | me | =89 030 | ®E& | =8| 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e | B8 | 0.30
31 | me BH 030 |~~~
7 T e e [ [ O o o o —
Bx. . . .
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)

1 0.30
BA] 0.30
) 0.30




SH7¥6E SHRBEDER p- 299

skl il

Bo/K3fE:  BEPEKIZREE AUKHESR:  FEFELACH NigFE: 1ERES KR ¢ BIK(EBE)

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.40 | MW | &9A | 0.40 | M | 388 | 0.40
2 | me | #8040 | e | B8 | 0.40 | fRE | E8H | 0.40
| 3 | ®me =8 040 | ®E | =89 | 040 | |E | EH | 0.40
4 | me B 040 | me | B8 0.40 | |E | B | 0.40
| 5 | ®m& =8 040 | ®E | =89 | 040 | |E | EHH | 0.40
6 | me | B8 | 040 | e | B | 0.40 | MR B0 | 0.40
| 7 | me | =8 040 | ®E | =89 | 040 | |E | BB | 0.40
8 | me | & | 040 | e | B8 | 0.40 | fRE | EBH | 0.40
| o | ®me | =8 | 040 | ®E | =89 | 040 | |E | BB | 0.40
10 | e | B0 | 0.40 | M2 | BBH | 0.40 | & | BB | 0.40
|11 | ®me | =89 | 040 | ®E | =89 | 0.40 | |E | EH | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 040 | |E | EH | 0.40
14 | & | B0 | 0.40 | M | B0 | 0.40 | W& | BB | 0.40
|15 | ®& | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
16 | & | B0 | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|17 | ®e | =89 | 040 | B | =8 | 0.40 | |E | EH | 0.40
18 | e | B | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|19 | ®& | =89 | 040 | ®E | =8 | 0.40 | |E | EH | 0.40
20 | me | B8R | 0.40 | MmE | B | 0.40 | e | B8 | 0.40
21 | me | #8040 | B | 8 | 0.40 | |E | BB | 0.40
22 | me | B8R | 0.40 | e | B | 0.40 | M | B8 | 0.40
23 | me | =88 | 040 | B | =89 | 0.40 | |E | BB | 0.40
24 | me | B8R | 0.40 | MmE | B | 0.40 | M | B8 | 0.40
|25 | me | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
26 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
27 | ®m& | =89 | 040 | B | =8 | 040 | |E | EH | 0.40
28 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
|20 | ®& | =88 | 040 | B | 8 | 0.40 | |BE | EB | 0.40
30 | me | B8R | 0.40 | e | B | 0.40 | MEE | B8 | 0.40
31 | me B 040 |~~~
o nb o meonb - B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.40 0.40 0.40
| & oo PEER
(mg/L)

1 0.40
BA] 0.40
) 0.40




SH7¥6E SHRBEDER p- 300

kiR SE ()

Bok3e:  PaBPEC/KRAE AUKHES::  FhFREPECKH NiBFE: 1ERES KR ¢ BIK(EBE)

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.30 | M| | &9 | 0.30 | Mes | 88 | 0.30
2 | me B8 030 | mE& B8 0.30 | | | B | 0.30
| 3 | ®me =8 030 | ®E& | =89 0.30 | \|E | EH | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
| 5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
8 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| o | ®me =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
10 | e | 0 | 0.30 | M | E0A | 0.30 | @& | BB | 0.30
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E& | EH | 0.30
12 | e | B0 0.30 | M | B0 | 0.30 | @& | BB | 0.30
|13 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.30 | W& | BB | 0.30
|17 | e | =8 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|10 | ®m& | =89 030 | ®E | =89 | 0.30 | |E | EH | 0.30
20 | me | ®8 | 0.30 | e | EEA | 0.30 | e | B8 | 0.30
21 | me | =89 030 | ®E& | =8| 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e | B8 | 0.30
31 | me BH 030 |~~~
7 T e e [ [ O o o o —
Bx. . . .
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)

1 0.30
BA] 0.30
/) 0.30




SH7¥6E SHRBEDER p- 301

oKt IEH

Bk3HE:  KREILEKRER FKHERS: RIBERKIR NigFE: 1ERES KR ¢ EESKIER. BKER)

SHBE SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.30 | M| | &9 | 0.30 | Mes | 88 | 0.30
2 | me B8 030 | mE& B8 0.30 | | | B | 0.30
| 3 | ®me =8 030 | ®E& | =89 0.30 | \|E | EH | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
| 5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me | =8 040 | ®E | =89 0.30 | |E | EH | 0.30
8 | me | & | 040 | e | B8 | 0.40 | fEE | EBH | 0.30
| o | ®me =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
10 | e | 0 | 0.30 | M | E0A | 0.30 | @& | BB | 0.30
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E& | EH | 0.30
12 | e | B0 0.30 | M | B0 | 0.30 | @& | BB | 0.30
|13 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | #0A | 0.40 | M | B0A | 0.30 | @& | BH | 0.30
|17 | e | =8 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|19 | ®& | =88 040 | W =89 | 0.30 | |E | EH | 0.30
20 | me | ®8 | 0.30 | e | EEA | 0.30 | e | B8 | 0.30
21 | m& | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e | B8 | 0.30
31 | me BH 030 |~~~
7 L e e [ [ O o~ o o —
Bx. . . .
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)

1 0.31
BA] 0.40
) 0.30




SH7¥6E SHRBEDER p- 302

BokitsR: B

i\ ETH BLLEKFRGE KBS : =Y e NiBFE: 1ERES KR ¢ BIK(EBE)

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.40 | MW | &9A | 0.40 | M | 388 | 0.40
2 | me | #8040 | e | B8 | 0.40 | fRE | E8H | 0.40
| 3 | ®me =8 040 | ®mE | =89 0.30 | |E | & | 0.30
4 | me B 040 | me | B8 0.40 | |E | B | 0.40
|5 | ®m& =8 030 | ®E | =89 | 040 | |E | EH | 0.40
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me | =8 040 | ®E | =89 | 040 | |E | BB | 0.40
8 | me | &8 | 030 | e | B8 | 0.40 | fEE | EBA | 0.40
| o | ®me =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
10 | & | B0 | 0.40 | M2 | BBA | 0.40 | & | BB | 0.30
|11 | me | =89 | 030 | ®E | =89 | 0.40 | |E | BB | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.40
14 | & | B0A | 0.40 | M | B0 | 0.40 | W& | BB | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =8 | 0.40 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.40 | & | BB | 0.40
|17 | ®e | =89 | 030 | ®E | =89 | 0.40 | |E | EB | 0.40
18 | e | B | 0.40 | M | BBA | 0.30 | |®E | BB | 0.40
|10 | ®& | =89 030 | ®E | =89 | 0.40 | |E | EH | 0.30
20 | me | B8 | 0.30 | e | B | 0.40 | e | B8 | 0.30
21 | m& | #8040 | ®E | =8 | 0.30 | |E | BB | 0.40
22 | me | B8R | 0.40 | e | B | 0.30 | e | B8 | 0.40
23 | me | =88 | 040 | B | =89 | 0.40 | |E | BB | 0.40
24 | me | B8R | 0.30 | MmEe | B | 0.40 | e | B8 | 0.40
|25 | me | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
26 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
27 | ®me | =89 | 040 | ®E | 8 | 0.30 | |BE | EH | 0.40
28 | me | B8R | 0.40 | MmE | 3B | 0.30 | e | B8 | 0.40
|20 | ®& | =88 | 040 | B | 8 | 0.40 | |BE | EB | 0.40
30 | me | B8R | 0.40 | e | B | 0.40 | MEE | B8 | 0.40
31 | mE | B | 0.40
BA] 0.40 0.40 0.40
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)

1 0.37
BA] 0.40
) 0.30




SH7¥6E SHRBEDER p- 303

DS

i\ ETH BLLEKFRGE AFUKHER::  FHMRSEKH NiBFE: 1ERES KR . ABEDKE. HIREKIE. BK(EH)

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.30 | M| | &9 | 0.30 | Mes | 88 | 0.30
2 | me B8 030 | mE& B8 0.30 | | | B | 0.30
| 3 | ®me =8 030 | ®E& | =89 0.30 | \|E | EH | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
| 5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me | =8 040 | ®E | =89 0.30 | |E | EH | 0.30
8 | me B8 040 | mE& B8 0.30 | |E | B8 | 0.30
| o | ®me =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
10 | e | 0 | 0.30 | M | E0A | 0.30 | @& | BB | 0.30
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E& | EH | 0.30
12 | e | B0 0.30 | M | B0 | 0.30 | @& | BB | 0.30
|13 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.30 | W& | BB | 0.30
|17 | e | =8 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|10 | ®m& | =89 030 | ®E | =89 | 0.30 | |E | EH | 0.30
20 | me | ®8 | 0.30 | e | EEA | 0.30 | e | B8 | 0.30
21 | me | =89 030 | ®E& | =8| 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e | B8 | 0.30
31 | me BH 030 |~~~
7 T e e [ [ O o~ o~ o —
Bx. . . .
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)

1 0.30
BA] 0.40
/) 0.30




SH7¥6E SHRBEDER p- 304

kiR FE

Bok3e:  IREAEIEEKREE BOKNEER: SRR TG RS TE WRESK: ERES KR - IREKIR. SiEfKIRE. BK(ER)

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.40 | MW | &9 | 0.30 | M | 388 | 0.20
2 | me B8 040 | mE B8 0.30 | |E | B | 0.20
| 3 | ®me =8 040 | ®mE | =89 0.30 | |E | & | 0.20
4 | me | B 040 | MmEe | B 030 | MmE | B | 0.20
|5 | ®m& =8 040 | ®E | =89 0.30 | |E | & | 0.20
6 | me B8 040 | mE B8 0.30 | |E | B8 | 0.20
| 7 | me | =8 040 | ®E | =89 0.30 | |E | EH | 0.20
8 | me B8 040 | mE& B8 0.30 | |E | B8 | 0.20
| o | e =8 | 040 | ®E | =89 0.30 | |E | & | 0.20
10 | & | B0 | 0.40 | M2 | BBA | 0.30 | W& | BB | 0.20
|11 | ®me | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.20
12 | e | B0 | 0.40 | M | B0A | 0.30 | W& | BB | 0.20
|13 | ®me | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.20
14 | & | B0A | 0.40 | M | B0 | 0.30 | W& | BB | 0.20
|15 | ®& | =89 | 040 | ®E | 8 | 0.30 | |E | EH | 0.20
16 | e | #0A | 0.40 | M | BBA | 0.30 | W& | BB | 0.20
|17 | e | =8 | 040 | ®E | =89 | 0.30 | |E | EH | 0.20
18 | e | B | 0.40 | M2 | BBA | 0.30 | W& | BH | 0.20
|19 | ®m& | =88 | 040 | W2 =89 | 0.30 | |E | EH | 0.20
20 | me | B8 | 0.40 | MmE | EFA | 0.30 | e | B8 | 0.20
21 | me | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.20
22 | me | B8R | 0.40 | e | B | 0.30 | M | B8 | 0.20
23 | me | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.20
24 | me | B8R | 0.40 | e | B | 0.30 | e | B8 | 0.20
|25 | me | =89 | 040 | W2 | 8 | 0.30 | |E | EH | 0.20
26 | me | B8R | 0.40 | MmE | B | 0.30 | e | B8 | 0.20
27 | ®me | =89 | 040 | W =8 | 0.30 | |E | EH | 0.20
28 | me | B8R | 0.40 | e | B | 0.30 | e | B8 | 0.20
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.20
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e B8 | 0.20
31 | mE B8 0.30
BA] 0.40 0.30 0.20
=1 0.30 0.30 0.20
| & oo PEER
(mg/L)

1 0.30
BA] 0.40
) 0.20




SH7¥6E SHRBEDER p- 305

kit I

Bok3E:  ALIRECKREE AOKHESS:  AMREEAKGH NiBFE: 1ERES KR - IRESERKRE

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.40 | MW | &9A | 0.40 | M | 388 | 0.40
2 | me | #8040 | e | B8 | 0.40 | fRE | E8H | 0.40
| 3 | ®me =8 040 | ®E | =89 | 040 | |E | EH | 0.40
4 | me B 040 | me | B8 0.40 | |E | B | 0.40
| 5 | ®m& =8 040 | ®E | =89 | 040 | |E | EHH | 0.40
6 | me | B8 | 040 | e | B | 0.40 | MR B0 | 0.40
| 7 | me | =8 040 | ®E | =89 | 040 | |E | BB | 0.40
8 | me | & | 040 | e | B8 | 0.40 | fRE | EBH | 0.40
| o | ®me | =8 | 040 | ®E | =89 | 040 | |E | BB | 0.40
10 | e | B0 | 0.40 | M2 | BBH | 0.40 | & | BB | 0.40
|11 | ®me | =89 | 040 | ®E | =89 | 0.40 | |E | EH | 0.40
12 | e | B0 | 0.40 | M | B0H | 0.40 | W& | BB | 0.40
|13 | ®me | =89 | 040 | ®E | =89 | 040 | |E | EH | 0.40
14 | & | B0 | 0.40 | M | B0 | 0.40 | W& | BB | 0.40
|15 | ®& | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
16 | & | B0 | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|17 | ®e | =89 | 040 | B | =8 | 0.40 | |E | EH | 0.40
18 | e | B | 0.40 | M | BBH | 0.40 | W& | BB | 0.40
|19 | ®& | =89 | 040 | ®E | =8 | 0.40 | |E | EH | 0.40
20 | me | B8R | 0.40 | MmE | B | 0.40 | e | B8 | 0.40
21 | me | #8040 | B | 8 | 0.40 | |E | BB | 0.40
22 | me | B8R | 0.40 | e | B | 0.40 | M | B8 | 0.40
23 | me | =88 | 040 | B | =89 | 0.40 | |E | BB | 0.40
24 | me | B8R | 0.40 | MmE | B | 0.40 | M | B8 | 0.40
|25 | me | =89 | 040 | B | 8 | 0.40 | |E | EH | 0.40
26 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
27 | ®m& | =89 | 040 | B | =8 | 040 | |E | EH | 0.40
28 | me | B8R | 0.40 | e | B | 0.40 | e | B8 | 0.40
|20 | ®& | =88 | 040 | B | 8 | 0.40 | |BE | EB | 0.40
30 | me | B8R | 0.40 | e | B | 0.40 | MEE | B8 | 0.40
31 | me B 040 |~~~
o nb o meonb - B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.40 0.40 0.40
| & oo PEER
(mg/L)

1 0.40
BA] 0.40
) 0.40




SH7¥6E SHRBEDER p- 306

WoKibR: W@

Bok3E:  ALIRECKREE AOKHESS:  AMREEAKGH NiBFE: 1ERES KR - IRESERKRE

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.30 | M| | &9 | 0.30 | Mes | 88 | 0.30
2 | me B8 030 | mE& B8 0.30 | | | B | 0.30
| 3 | ®me =8 030 | ®E& | =89 0.30 | \|E | EH | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
| 5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| 7 | me =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
8 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| o | ®me =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.30
10 | e | 0 | 0.30 | M | E0A | 0.30 | @& | BB | 0.30
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E& | EH | 0.30
12 | e | B0 0.30 | M | B0 | 0.30 | @& | BB | 0.30
|13 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.30 | W& | BB | 0.30
|17 | e | =8 | 030 | ®E | =89 | 0.30 | |E | EH | 0.30
18 | e | B | 0.30 | M | 0 | 0.30 | @& | &M | 0.30
|10 | ®m& | =89 030 | ®E | =89 | 0.30 | |E | EH | 0.30
20 | me | ®8 | 0.30 | e | EEA | 0.30 | e | B8 | 0.30
21 | me | =89 030 | ®E& | =8| 0.30 | |E | EH | 0.30
22 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.30 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EH | 0.30
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | &8 | 0.30 | e | B | 0.30 | e | E8A | 0.30
|20 | m& | =88 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 0.30 | e | B8 | 0.30
31 | me BH 030 |~~~
7 T e e [ [ O o o o —
Bx. . . .
=1 0.30 0.30 0.30
| & oo PEER
(mg/L)

1 0.30
BA] 0.30
) 0.30




SH7¥6E SHRBEDER p. 307

skt Bl

BoK3ge:  FEF KRR FEFUKIG IFFSE: ER3E KR - FEI

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.40 | MW | &9 | 0.40 | MW | 388 | 0.30
2 | me B8 040 | mE B8 0.30 | |E | B | 0.30
| 3 | ®me =8 040 | ®mE | =89 0.30 | |E | & | 0.30
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.30
|5 | ®m& =8 030 | ®E | =89 | 040 | |E | EH | 0.30
6 | me | B8 | 040 | e | B8 | 0.40 | fEE | B8 | 0.30
| 7 | me | =8 040 | ®E | =89 0.30 | |E | EH | 0.30
8 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.30
| o | e =8 | 040 | ®E | =89 0.30 | |E | EH | 0.30
10 | & | 0 | 0.40 | M | BBA | 0.30 | W& | BB | 0.30
|11 | ®me | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.20
12 | & | B0 | 0.40 | M | BB | 0.20 | W& | BB | 0.20
|13 | ®me | =89 030 | ®E | =89 | 0.30 | |E | EH | 0.20
14 | & | B0A | 0.30 | M | B0 | 0.30 | W& | B8 | 0.30
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EH | 0.30
16 | e | 0 | 0.30 | M | B0 | 0.30 | W& | BB | 0.20
|17 | e | =8 030 | ®E | =89 | 0.30 | |E | EH | 0.20
18 | e | BB | 0.40 | M | BBA | 0.20 | W& | BH | 0.30
|19 | ®m& | =89 040 | ®E | =89 | 0.20 | |E | EH | 0.30
20 | me | B8 | 0.40 | MmE | EFA | 0.30 | e | B8 | 0.30
21 | m& | =89 | 040 | ®E | =89 | 0.30 | |E | EH | 0.30
22 | me | B8R | 0.40 | e | B | 0.30 | M | B8 | 0.30
23 | m& | =89 030 | | | =8| 0.30 | |E | EH | 0.30
24 | me | B8R | 0.20 | e | B | 0.30 | e | B8 | 0.30
|25 | me | #8030 | ®E | =89 | 0.40 | |E | EH | 0.30
26 | me | B8R | 0.40 | e | B | 0.30 | e | B84 | 0.30
27 | ®me | =89 030 | ®E& | =8 | 0.30 | |E | EH | 0.30
28 | me | ®8A | 0.30 | e | B | 0.30 | e | B8 | 0.20
|20 | ®& | =88 | 040 | W2 | 89 | 0.30 | |E | EH | 0.30
30 | me | B8R | 0.40 | MmE | 3EFA | 0.30 | e | B8 | 0.30
31 | mE B8 0.30
A 0.40 0.40 0.30
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.31
BA] 0.40
/) 0.20




SH7¥6E SHRBEDER p. 308

Bokithea: HLtiR

i\ ETH =4 BHEKRHE KBS : =4 BEeKith NigFE: 1ERES KR =515+, BK(EH)

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 | ®& | &0 | 0.41 | MW | &9 | 0.35 | M | 308 | 0.46
2 | me | B8] 040 | e | B8 | 034 | ME | BB 0.45
| 3 | ®me =8 039 | ®mE | =89 | 0.38 | |E | BB | 045
4 | me B 039 | me | B8 037 | mE | B8 | 0.44
|5 | ®me =8 039 | ®mE | =89 | 0.38 | BE | EB | 045
6 | me B8 037 | mE& B8 0.38 | |mE | B | 044
| 7 | ®me =8 037 | ®mE | =89 039 | |\E | & | 044
8 | me | &M | 037 | me | B | 041 | e B0 | 0.44
| o | m& =8 | 036 | ®E& | B89 | 041 | |E | BH | 043
10 | & | B0 | 0.36 | M | B0 | 0.41 | @& | BB | 0.44
|11 | ®me | =88 | 035 | ®E | =89 | 041 | |E | BB | 045
12 | me | B0 0.34 | |mE | B0 | 043 | ®E | BEH | 045
|13 | ®me | =8 | 034 | ®E | =89 | 043 | |E | BB | 045
14 | me | B89 | 0.33 | ®mE | B0 | 0.44 | |E | B | 0.44
|15 | ®e | =88 | 033 | ®E | =89 | 044 | |E | EH | 0.44
16 | e | 0 | 0.35 | M | B0 | 0.43 | |®E | B0 | 0.42
|17 | ®& | =88 | 035 | | | B89 | 043 | |E | BH | 043
18 | e | BB | 0.33 | |®E | B0 | 0.44 | |®EE | B | 0.42
|19 | ®e | =8 | 032 | ®E& | B89 | 044 | |E | BH | 0.41
20 | me | B8 | 0.31 | e | B | 045 | e | B8 | 0.42
21 | ®& | =89 031 | | | B89 | 043 | |E | BH | 043
2 | me | &) 030 | me | BB | 0.42 | me | ER | 043
23 | ®& | #8029 | B | B89 | 0.44 | |E | BH | 0.43
24 | me | BmA | 0.29 | M | B | 0.45 | mEe | B 0.43
|25 | ®e | #8029 | ®E | =8 | 044 | |E | BB | 044
26 | me | B8R | 0.32 | me | B | 0.44 | M B0 | 0.44
27 | e | =89 | 034 | ®E | =89 | 045 | |E | EH | 044
28 | me | @A | 0.35 | mE | BB | 0.45 | mE | B 0.43
|20 | ®e | ®89 | 0.35 | B | =8 | 0.44 | |E | EH | 0.44
30 | me | &I | 0.35 | mE | BB | 0.45 | mE | B 0.43
31 | mE B 0.45
A 0.41 0.45 0.46
=1 0.29 0.34 0.41
| & oo PEER
(mg/L)

1 0.40
BA] 0.46
/) 0.29




SH7¥6E SHRBEDER p- 309

FoKitR:  kE

BokZ5E:  EBIAECKR AUKHES::  #BIRECACH NigFE: 1ERES KR ¢ BIK(EBE)

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.42 | W | B0A | 0.34 | M | 308 | 0.45
2 | me | #8046 | e | B8 | 033 | e B8 | 0.44
| 3 | ®m& =8 048 | ®mEe | B89 | 0.33 | |E | BH | 043
4 | me B 048 | me | B 0.35 | MmE | B | 0.44
|5 | ®m& =8 048 | ®mE | =89 | 0.35 | |E | BB | 045
6 | me B8 048 | mE B8 0.34 | |mE | B | 044
| 7 | & =8 047 | ®mE& | B89 | 0.35 | |E | BH | 043
8 | me | & | 046 | e | B8 | 0.34 | mE | B 0.43
| o | me =8 | 046 | ®mE | =89 | 0.33 | |BE | EH | 044
10 | & | B0 | 0.46 | M | B0 | 0.34 | |®E | BH | 0.44
|11 | me | =89 | 045 | ®E | =89 | 0.36 | \E | EH | 045
12 | e | B0 | 0.46 | M | B0 | 0.38 | @& | &M | 0.46
|13 | ®me | =8 | 045 | ®E | =89 | 0.37 | |E | EH | 045
14 | meE | B0A | 0.46 | M | B0 | 0.38 | |®E | BH | 0.44
|15 | ®& | =89 | 045 | ®mee | B89 | 0.38 | | | BHA | 0.43
16 | e | B0 | 0.47 | me | B0 | 0.38 | mE | &M | 0.43
|17 | ®& | =8 | 046 | ®mEe | B89 | 0.38 | | | BHA | 0.43
18 | e | BB | 0.44 | e | B0 | 0.38 | |®E | &M | 0.44
|10 | me | =8 043 | ®E | =89 | 041 | |E | EH | 044
20 | me | B8R | 043 | mE | B | 041 | M B0 | 0.44
21 | me2 | #8042 | B | =8| 042 | BE | BB | 044
2 | me | B 041 | mE | EA | 042 | mE B | 044
23 | me | =89 | 040 | BB | =89 | 041 | |E | BB | 044
24 | me | B | 0.40 | WM | B | 0.43 | | | B | 0.45
|25 | ®e | #8039 | ®E | =8 | 045 | |E | EH | 046
26 | me | B | 0.39 | M | B | 0.43 | mE | B 0.45
27 | e | =89 | 038 | ®Ee | =8 | 042 | |E | BB | 042
28 | me | B8R | 0.36 | MmE | B | 043 | MmE | B8 | 0.46
|20 | me2 | =88 | 037 | ®E | =8 | 043 | |E | BB | 045
30 | me | B8R | 0.36 | mE | B | 043 | MmE | B0 | 0.46
31 | mE B 0.46
BA] 0.48 0.46 0.46
=1 0.36 0.33 0.42
| & oo PEER
(mg/L)

1 0.42
BA] 0.48
) 0.33




SH7¥6E SHRBEDER p- 310

Bokithea: iR (BR)

ok BREKGRE Kb BRECK gL - KR - BIK(ES)

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) e | ®0 (mg/L) e | ®0 (mg/L) e | ®0 (mg/L) =2 (mg/L) 12 (mg/L) A0 (mg/L) = (mg/L)
1 | ®& | &9 | 0.35 | M| | &9A | 0.35 | M | B8 | 0.35
2 | me B8 035 | me | B8 0.35 | mE | B8 | 0.35
| 3 | ®me =8 035 | ®mE& | =89 035 | |E | & | 0.35
4 | me B 035 | me | B8 0.35 | |E | B8 | 0.35
|5 | ®me =8 035 | ®E& | =89 | 035 | |E | EH | 0.35
6 | me B8 | 035 | mE& | B8 | 0.35 | mE | B8 | 0.35
| 7 | me =8 035 | ®E& | =89 | 0.35 | \E | EH | 0.35
8 | me &8 | 035 | me& | B8 | 0.35 | mE | B8 | 0.35
| o | ®me =8 | 035 | ®mE& | =89 | 0.35 | |E | EH | 0.35
10 | e | BB | 0.35 | & | B0 | 0.35 | |mE | &M | 0.35
|11 | me | =8 | 035 | | | =89 | 0.35 | |E& | EH | 0.35
12 | me | B8 | 0.35 | me | B8 | 0.35 | m& | &I | 0.35
|13 | ®me | =8 | 035 | ®E& | =89 | 0.35 | |E | EB | 0.35
14 | me | B0 0.35 | mE | B0 | 0.35 | mE | &I | 0.35
|15 | ®e | =88 | 035 | | | =89 | 0.35 | |E | EB | 0.35
16 | e | B0 | 0.35 | & | B0 | 0.35 | mE | &M | 0.35
|17 | e | =88 | 035 | ®E | =89 | 0.35 | |E | EH | 0.35
18 | e | BB | 0.35 | M | B8 | 0.35 | |mE | &M | 0.35
|19 | ®me | =88 035 | || =8| 0.35 | |E | EB | 0.35
20 | me | B8 | 0.35 | Mme | B8 | 0.35 | Mme | BB 0.35
21 | m& | #8035 | || =89 | 0.35 | |E | EH | 0.35
2 | me | &) | 0.35 | me | B8R | 0.35 | Mme | BB 0.35
23 | me | #8035 | | | =8 | 0.35 | |E | EH | 0.35
24 | me | ®A | 0.35 | M | B8 | 0.35 | MmEe | BB 0.35
|25 | me | #8035 | | | =89 | 0.35 | |\E | EB | 0.35
26 | me | &8 | 0.35 | MmE | B8 | 0.35 | Mme | BB 0.35
27 | e | =88 | 035 | ®E | =89 | 0.35 | |®E | EB | 0.35
28 | me | &8 | 0.35 | Mme | B8 | 0.35 | Mme | BB 0.35
|20 | m& | =88 | 035 | ®E | =89 | 0.35 | & | EB | 0.35
30 | me | &8 | 0.35 | Mme | B8 | 0.35 | Mme | BB 0.35
31 | mE B 0.35
A 0.35 0.35 0.35
=1 0.35 0.35 0.35
| & oo PEER
(mg/L)

1 0.35
BA] 0.35
/) 0.35




SH7¥6E SHRBEDER p- 311

Bokithea: g (KE)

ok KEEKREE HOKHESR:  KEKIER NigFE: 1ERES KGR - KEKE

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 | ®E& | &9 | 0.35 | M| | &9 | 0.35 | M | B8 | 0.40
2 | me B8 035 | mE& B8 0.35 | | | B | 0.40
| 3 | ®me =8 035 | ®mE& | =89 | 0.35 | \E | & | 0.40
4 | me B 035 | me | B8 0.35 | |E | B8 | 0.35
|5 | ®me =8 035 | ®E& | =89 | 035 | |E | EH | 0.35
6 | me B8 | 035 | mE& | B8 | 0.35 | mE | B8 | 0.35
| 7 | me =8 035 | ®E& | =89 | 0.35 | \E | EH | 0.35
8 | me &8 | 035 | me& | B8 | 0.35 | mE | B8 | 0.35
| o | ®me =8 | 035 | ®mE& | =89 | 0.35 | |E | EH | 0.35
10 | e | BB | 0.35 | & | B0 | 0.35 | |mE | &M | 0.35
|11 | me | =8 | 035 | | | =89 | 0.35 | |E& | EH | 0.35
12 | me | B8 | 0.35 | me | B8 | 0.35 | m& | &I | 0.35
|13 | ®me | =8 | 035 | ®E& | =89 | 0.35 | |E | EB | 0.35
14 | me | B0 0.35 | mE | B0 | 0.35 | mE | &I | 0.35
|15 | ®e | =88 | 035 | | | =89 | 0.35 | |E | EB | 0.35
16 | e | B0 | 0.35 | & | B0 | 0.35 | mE | &M | 0.35
|17 | e | =88 | 035 | ®E | =89 | 0.35 | |E | EH | 0.35
18 | e | BB | 0.35 | M | B8 | 0.35 | |mE | &M | 0.35
|19 | ®me | =88 035 | || =8| 0.35 | |E | EB | 0.35
20 | me | B8 | 0.35 | Mme | B8 | 0.35 | Mme | BB 0.35
21 | m& | #8035 | || =89 | 0.35 | |E | EH | 0.35
2 | me | &) | 0.35 | me | B8R | 0.35 | Mme | BB 0.35
23 | me | #8035 | | | =8 | 0.35 | |E | EH | 0.35
24 | me | ®A | 0.35 | M | B8 | 0.35 | MmEe | BB 0.35
|25 | me | #8035 | | | =89 | 0.35 | |\E | EB | 0.35
26 | me | &8 | 0.35 | MmE | B8 | 0.35 | Mme | BB 0.35
27 | e | =88 | 035 | ®E | =89 | 0.35 | |®E | EB | 0.35
28 | me | &8 | 0.35 | Mme | B8 | 0.35 | Mme | BB 0.35
|20 | m& | =88 | 035 | ®E | =89 | 0.35 | & | EB | 0.35
30 | me | &8 | 0.35 | Mme | B8 | 0.35 | Mme | BB 0.35
31 | mE B 0.35
BA] 0.35 0.35 0.40
=1 0.35 0.35 0.35
| & oo PEER
(mg/L)

1 0.35
BA] 0.40
) 0.35




SH7¥6E SHRBEDER p- 312

BoKitsR: W

i\ ETH RBABC K R KBS : RBAZKIR NigFE: 1ERES KR RBAZKIR

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | B& | B0 | 0.45 | M | B0A | 0.45 | M | B8 | 0.45
2 | me | #8M | 045 | e | B8 | 045 | mE | B 0.43
| 3 | ®me =8 048 | ®mE | =89 | 045 | |E | BB | 045
4 | me B 047 | mEe | B8 043 | |E | B8 | 045
|5 | ®me =8 047 | ®mE | =8| 045 | |E | BB | 045
6 | me | B8 | 045 | mE | B | 045 | MmE | B0 | 0.45
| 7 | me | =8 045 | ®mE | =89 | 043 | |E | BB | 040
8 | me | &8 | 040 | e | B8 | 045 | mE | B 0.43
| o | m& =8 | 045 | e | B89 | 045 | |E | BH | 043
10 | e | B0 | 0.45 | M | B0 | 0.45 | |mE | B | 0.45
|11 | me | =8 | 047 | ®BE | =89 | 045 | |\E | & | 042
12 | me | B0 | 0.48 | mE | B0 | 0.45 | ®E | B | 0.45
|13 | ®me | =89 | 035 | | | =8 | 043 | |E | BB | 045
14 | me | B 043 | |mE | B0 | 043 | mE | BE;\ | 043
|15 | me | =89 | 048 | | | =8 | 045 | |E | EH | 0.40
16 | & | B0 | 0.45 | M | B0 | 0.45 | |®E | B | 0.45
|17 | ®& | =89 | 048 | | | B89 | 043 | |E | BH | 0.43
18 | e | BB | 0.45 | e | B0 | 0.45 | |mE | &M | 0.43
|19 | ®me | =88 | 045 | B | =8 | 045 | |E | BB | 045
20 | me | B8 | 0.48 | mE | B | 0.45 | mE | B 0.43
21 | me | #8047 | ®BE | =8| 045 | |E | B | 042
2 | me | B8R | 045 | mE | B | 040 | MmE | B | 0.42
23 | ®& | #8045 | B | B89 | 043 | |E | BH | 043
24 | me | B | 0.45 | M | B | 0.43 | WM | B | 0.45
|25 | me | #=89 | 0.48 | W | 8 | 045 | |E | BB | 045
26 | me | B | 0.45 | mE | B | 043 | mE | B 0.43
27 | ®& | =89 | 045 | ®mEe | B89 | 0.42 | | | BH | 0.43
28 | me | B | 0.45 | mE | BB | 043 | mE | B 043
|20 | m&2 | ®89 | 0.45 | B | =8 | 043 | |E | BB | 045
30 | me | B | 0.45 | mE | BB | 0.45 | MmE | BB 0.45
31 | me B 043 |~~~
o nbonbontb o B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.35 0.40 0.40
| & oo PEER
(mg/L)

1 0.44
BA] 0.48
) 0.35




SH7¥6E SHRBEDER p- 313

Bokithe:  HE

i\ ETH Aemiis KNGS : AETIZ KIS WIBFE: 2R3B KR faI )|

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.25 | | | &9A | 0.35 | MW | 388 0.33
2 |me B8 027 | ®me | B8 033 | ®mE | B8 | 0.33
|3 | ®me =8 027 | ®mE | =89 033 | & | & | 045
4 | me | B0 027 | me | B | 045 | mE | EA | 045
|5 | ®me =8 027 | ®mE | =8| 045 | |E | & | 0.30
6 | me B8 027 | mE& B8 0.28 | |E | B8 | 0.30
| 7 | me =8 027 | ®mE | =89 | 0.28 | BE | BB | 045
8 | me &8 | 0.25 | me& | B8 | 0.38 | |E | B | 0.45
| o | e =8 | 025 | ®E | =89 | 0.38 | ®E | EH | 0.37
10 | e | #0A | 0.28 | M | B0A | 0.45 | mE | BB | 0.37
|11 | me | =89 | 0.28 | ®E | =89 | 045 | |E | EH | 0.35
12 | me | B0 | 0.25 | me | B0 | 045 | ®E | & | 0.35
|13 | me | =88 | 0.25 | | | =89 | 045 | |E | EH | 0.30
14 | me | B0 | 0.27 | |mE | B0 | 045 | |®E | B | 0.30
|15 | me | =8 | 0.27 | ®E | =8 | 045 | |E | EH | 0.35
16 | e | B0 | 0.30 | e | B0 | 0.55 | |mE& | &M | 0.35
|17 | & | =89 | 030 | ®E | =89 | 0.55 | |E& | EB | 0.35
18 | e | BB | 0.33 | e | B8 | 0.55 | |®E | &M | 0.35
|19 | ®m& | =88 | 033 | ®E& | =89 | 0.55 | |E | & | 0.37
20 | me | B8 | 0.30 | e | B | 035 | e | B8 | 0.37
21 | me | =89 030 | ®E | =89 | 0.35 | |\E | EH | 0.35
2 | me | &) 0.32 | me | B | 0.28 | me | BB 0.35
23 | m& | =8 032 | ®mee | B89 | 0.28 | e | BHA | 0.33
24 | me | &R | 0.27 | me | B8 | 0.30 | me | B8 0.33
|25 | me | =88 | 0.27 | ®E | =89 | 0.30 | |E | & | 0.32
26 | me | B8R | 0.35 | Mme | B | 0.28 | e | B8 | 0.32
27 | ®& | =89 | 035 | ®ee | B89 | 0.28 | e | B | 0.33
28 | me | &8 | 0.33 | me | B8R | 043 | me | EA | 033
|20 | me2 | =88 | 033 | | | =8 | 043 | |E | EH | 0.30
30 | me | B8R | 0.35 | Mme | B | 033 | e E8 | 0.30
31 | mE | B | 0.33
A 0.35 0.55 0.45
=1 0.25 0.28 0.30
| & oo PEER
(mg/L)

1 0.34
BA] 0.55
/) 0.25




SH7¥6E SHRBEDER p- 314

kiR BR

i\ ETH ER KBS : FBIRFKZ AIFT5E: 2R31B KR izl o=l

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.35 | M| | &9 | 0.30 | M | B8 | 0.25
2 |me B8 027 | me | B8 025 | ®mE | B | 0.25
| 3 | ®me =8 027 | ®mE | =8| 025 | |E | & | 0.25
4 | me B 027 | me | B 0.28 | |E | BMA | 0.25
|5 | ®me =8 027 | ®mE& | =89 | 0.28 | ®E | EB | 0.25
6 | me B8 | 0.28 | mE& | B8 | 0.25 | ®|E | B | 0.25
| 7 | ®m& =8 0.28 | ®mee | 89 | 0.25 | | | BHA | 0.23
8 | me &8 | 030 | ®me& | B | 027 | ®mE | B | 0.23
| o | e =88 030 | ®E | =8| 0.27 | |E& | EH | 0.25
10 | e | B0 | 0.30 | M | B8 | 0.35 | |®E | &M | 0.25
|11 | ®e | =88 | 030 | ®mee | 89 | 0.35 | |E | BH | 0.23
12 | me | B 0.27 | me | B0 | 0.35 | m& | &)\ | 0.23
|13 | e | =8 | 027 | ®E | =89 | 035 | |E | & | 0.27
14 | me& | B0A | 0.30 | e | B0 | 0.30 | |®E | B8 | 0.27
|15 | ®& | =89 | 0.30 | ®ee | 89 | 0.30 | | | BHA | 0.23
16 | e | B0 | 0.30 | e | B0 | 0.38 | m& | &M | 0.23
|17 | e | =89 | 030 | ®E | =89 | 0.38 | |®E | EB | 0.25
18 | e | BB | 0.30 | | | B0 | 0.45 | |®E | & | 0.25
|10 | ®me | =88 030 | ®E | =8 | 045 | |E | EHH | 0.22
20 | me | B8R | 0.28 | e | B | 0.32 | e B8 | 0.22
21 | me | =88 | 0.28 | ®mE | =89 | 0.32 | |E | & | 0.22
2 | me | B 028 | me | B | 029 | e B8 | 0.22
23 | me | =88 | 0.28 | ®E | =8| 0.29 | B|E | EH | 0.22
24 | me | B8R | 0.35 | Mme | B | 032 | mEe | B8 | 0.22
|25 | me | #8035 | ®E | =89 | 0.32 | |E& | EH | 0.20
26 | me | B8R | 0.45 | e | B | 0.35 | ME | B8 | 0.20
27 | e | =89 | 045 | ®E | =89 | 0.35 | |E | EH | 0.25
28 | me | &8 | 0.30 | me | BB | 0.27 | me | BB 0.25
|20 | ®& | =88 | 030 | ®mee | B89 | 0.27 | | | BHA | 0.23
30 | me | &8 | 0.33 | me | B8 | 0.30 | me | B8 0.23
31 | me BH 030 |~~~
7 T e e [ [ O o~ o o —
Bx. . . .
=1 0.27 0.25 0.20
| & oo PEER
(mg/L)

1 0.29
BA] 0.45
/) 0.20




SH7¥6E SHRBEDER p- 315

kiR AR

Bk BE HOKHESR: BERKIE WIBFE: 2R3B KR o B B2

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.27 | W | B9A | 0.32 | MW | 38 0.33
2 |me B8 027 | ®me | B8 030 | ®mE | B8 | 0.33
| 3 | ®me =8 027 | ®mE | =89 030 | \|E | & | 045
4 | me | B 037 | me | B | 045 | mE | EA | 045
|5 | ®me =8 037 | ®E& | =8| 045 | |E | BB | 045
6 | me B8 | 032 | m& | B | 0.32 | ®|E | B | 0.45
| 7 | me =8 032 | ®mE& | =8| 0.32 | \E | & | 045
8 | me | &8 | 040 | e | B8 | 0.40 | fEE | BB | 0.45
| o | me =8 | 040 | ®E | =89 | 040 | |E | EH | 045
10 | e | B0 | 0.35 | e | B0 | 0.38 | ®E | &M | 0.45
|11 | me | =89 | 035 | ®E | =89 | 0.38 | |®E | EB | 0.35
12 | me | B8 | 0.35 | me | B8 | 0.25 | me | &I | 0.35
|13 | ®e | =89 | 035 | ®ee | 89 | 0.25 | |E | BH | 0.23
14 | me | B0 0.33 | me | B8 | 0.30 | ®E | &)\ | 0.23
|15 | ®& | =88 | 0.33 | | | B89 | 0.30 | | | BH | 0.23
16 | e | B0 | 0.35 | e | B0 | 0.35 | m& | &M | 0.23
|17 | ®& | =88 | 035 | | | B89 | 0.35 | |E | BH | 0.23
18 | e | BB | 0.33 | mE | B0 | 0.45 | @mE | & | 0.23
|10 | ®me | =88 033 | | | =89 | 045 | |E | & | 0.25
20 | me | B8 | 0.27 | me | B8 | 0.25 | Mme | BB 0.25
21 | me | #8027 | ®E | =89 | 0.25 | |E | BB | 045
2 | me | &) | 035 | me | B | 0.27 | me | B 045
23 | me | #8035 | ®E | =89 | 0.27 | |E | EH | 0.40
24 | me | B8R | 0.35 | e | B | 033 | e | B8 | 0.40
|25 | m& | #8035 | | | 89 | 0.33 | |E | EH | 045
26 | me | &I | 0.25 | mE | B8R | 0.35 | M | BB 0.45
27 | ®me | =88 | 0.25 | ®E | =89 | 0.35 | |®E | EH | 0.38
28 | me | B8R | 0.27 | e | B | 035 | e | B84 | 0.38
|20 | ®e | =88 | 0.27 | ®E | =8| 0.35 | BE | & | 042
30 | me | B8R | 0.32 | me | B | 0.28 | e | B | 0.42
31 | me B 0 |~~~
7 L e e [ [ O o~ o o —
Bx. . . .
=1 0.25 0.25 0.23
| & oo PEER
(mg/L)

1 0.34
BA] 0.45
/) 0.23




SH7¥6E SHRBEDER p- 316

oKt EEE

BoK3fe:  FEREE KNS TRREEEIFKS WIBFE: 2R3B KR 7> KRR

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) = (mg/L) = (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.45 | M| | &9 | 0.50 | M | 88 | 0.55
2 | me B8 050 | me | B8 | 045 | mE | BB | 0.55
| 3 | ®me =8 050 | ®E | =8| 045 | |E | BB | 0.55
4 | me B 050 | mEe | B8 0.55 | |E | B8 | 0.55
| 5 | ®m& =8 | 050 | ®mee | 89 | 0.55 | e | HBA | 0.53
6 | me B8 | 0.55 | mE | B8 | 0.45 | |mE | B8 | 0.53
| 7 | me | =8 | 055 | ®E | =89 | 045 | |E | BB | 0.55
8 | me &8 | 050 | me& | B8 | 0.45 | |E | BB | 0.55
| o | e =88 | 050 | ®E | =8 | 045 | |E | EH | 0.50
10 | e | 0 | 0.48 | M | BBA | 0.55 | @& | BB | 0.50
|11 | me | =89 | 048 | ®E2 | =89 | 0.55 | |E | EH | 0.55
12 | e | B0 | 0.55 | e | B8 | 0.55 | @& | &I | 0.55
|13 | ®& | =89 | 0.55 | W | 89 | 0.55 | |E | BB | 0.53
14 | me& | B0 | 0.55 | e | B8 | 0.55 | @& &I | 0.53
|15 | ®& | =88 | 0.55 | | | 89 | 0.55 | & | EB | 0.55
16 | e | B0 | 0.50 | M | BB | 0.55 | @& | &M | 0.55
|17 | ®& | =88 | 0.50 | ®E | 89 | 0.55 | |E | EB | 0.45
18 | e | BB | 0.45 | M | B0 | 0.60 | W& | BEH | 0.45
|19 | ®e | =88 | 045 | ®E2 | =8 | 0.60 | |E | E=B | 0.58
20 | me | B8 | 0.40 | e | EFA | 0.55 | e | B8A | 0.58
21 | m& | #8040 | W | =89 | 0.55 | |E | EH | 0.70
2 | me | B8R | 0.45 | e | B | 0.55 | ME | B8 | 0.70
23 | me | #8045 | | | =89 | 0.55 | |E& | EB | 0.50
24 | me | B8R | 0.40 | e | B | 045 | M | B8 | 0.50
|25 | me | #8040 | B | 8 | 045 | |E | EB | 0.58
26 | me | B8R | 0.45 | MmE | B | 0.60 | ME | B8 | 0.58
27 | ®me | =88 | 045 | ®E | 8 | 0.60 | |E | EB | 0.40
28 | me | B8R | 0.45 | MmE | B | 0.60 | ME | B8 | 0.40
|20 | me2 | =89 | 045 | W2 | 89 | 0.60 | |E | EB | 0.45
30 | me | B8 | 0.50 | MmE | B | 0.55 | MmE | B | 0.45
31 | mE B | 0.55
BA] 0.55 0.60 0.70
=1 0.40 0.45 0.40
| & oo PEER
(mg/L)

1 0.51
BA] 0.70
) 0.40




SH7¥6E SHRBEDER p.- 317

WKibR: R

Bok3gE: B HOKHESR:  AfRkis WIBFE: 2R3B KR . BEKIE

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.25 | W | &9 | 0.27 | W | B8 | 0.35
2 | me B8 025 | me | B8 0.28 | mE | BH | 0.35
| 3 | ®me =8 025 | ®mE | =89 | 0.28 | BE | BB | 045
4 | me | B 025 | me | BB | 0.25 | mE | B 045
|5 | ®me =8 025 | ®Ee | =89 | 0.25 | |E | EB | 0.35
6 | me B8 | 0.23 | ®m& | B8 | 0.25 | ®|E | B | 0.35
| 7 | me | =8 023 | ®mE& | =89 | 0.25 | |E& | & | 0.30
8 | me B8 025 | mE& B8 0.25 | | | B | 0.30
| o | e =8 | 025 | ®E | =89 | 0.25 | ®E | EH | 0.28
10 | me& | B0 | 0.27 | | | B0 | 0.27 | |®E | &8 | 0.28
|11 | me | =8 | 027 | ®mEe | =8| 027 | & | &8 | 0.27
12 | me | B0 | 0.27 | |me | B0 | 0.35 | |®E | B) | 0.27
|13 | e | =8 | 027 | ®E | =89 | 0.35 | |E | E=H | 0.28
14 | me | B0A | 0.23 | me | B0 | 0.35 | |mE | B | 0.28
|15 | ®me | =8 | 0.23 | ®e | =8 | 0.35 | |E | & | 0.27
16 | e | 0 | 0.25 | M | 0 | 0.30 | @& | B | 0.27
|17 | e | =88 | 0.25 | ®E& | =89 | 0.30 | |E& | EH | 0.30
18 | e | B | 0.25 | M | B0 | 0.27 | |®E | &M | 0.30
|10 | ®me | =88 | 025 | ®e | =8 | 0.27 | |E | EH | 0.27
20 | me | B8 | 0.25 | e | B | 033 | e | B8 | 0.27
21 | ®me | #8025 | W | =8 | 0.33 | |E | & | 0.27
2 | me | &R | 0.25 | me | B8 | 030 | e | B8 | 0.27
23 | me | #8025 | ®E | =89 | 0.30 | |E | EH | 0.30
24 | me | B8R | 0.27 | me | B8 | 032 | e B8 | 0.30
|25 | me | =88 | 0.27 | ®mEe | =8| 0.32 | |E | & | 0.32
26 | me | B8R | 0.25 | e | B | 035 | e B8 | 0.32
27 | ®me | =88 | 0.25 | ®E | =89 | 0.35 | |E | EH | 0.30
28 | me | &R | 0.27 | e | B | 033 | e | B8 | 0.30
|20 | me2 | =88 | 0.27 | ®E | =89 | 0.33 | |E | & | 0.32
30 | me | B8R | 0.27 | me | B | 035 | e B8 | 0.32
31 | me B 035 |~~~
7 EL i e e [ [ O o~ O~ o —
Bx. . . .
=1 0.23 0.25 0.27
| & oo PEER
(mg/L)

1 0.29
BA] 0.45
/) 0.23




SH7¥6E SHRBEDER p- 318
oKt wa

BK3HR: WS HKNESR: mEFKS WIBFE: 2R3B KGR - mEKE

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER

Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.23 | | | &9 | 0.28 | M | 388 | 0.25

2 | me B8 023 | me | B8 033 | ®mE | B | 0.25
|3 | ®me =8 023 | ®mEe | =8| 033 | |E& | &8 | 0.37

4 | me B 025 | me | B 0.38 | mE | B8 | 0.37
| 5 | & =8 025 | ®mee | 89 | 0.38 | | | BHA | 0.33

6 | me B8 | 0.25 | mE& | B8 | 0.28 | |E | B8 | 0.33
| 7 | me& =8 025 | ®mE | =89 | 0.28 | ®E | EH | 0.27

8 | me B8 027 | mE& B8 0.28 | |mE | B | 0.27
| o | me =8 | 027 | ®mE& | =89 | 0.28 | ®E | E=B | 0.28
10 | e | #0A | 0.28 | M | BBA | 0.30 | mE | &M | 0.28
|11 | me | =89 | 0.28 | W | =89 | 0.30 | |E | E=H | 0.28
12 | me | B0 0.27 | |me | B0 | 043 | |®E | B | 0.28
|13 | e | =8 | 027 | ®E | =89 | 043 | |E | & | 0.32
14 | me | B0 0.27 | me | B0 | 0.28 | |®E | B | 0.32
|15 | ®me | =8 | 0.27 | ®Ee | =89 | 0.28 | |®E | EH | 0.27
16 | & | #0A | 0.28 | M | B0 | 0.27 | |®E | &) | 0.27
|17 | ®me | =88 | 0.28 | ®E | =89 | 0.27 | |E | EH | 0.27
18 | e | B | 0.35 | M | B0 | 0.28 | |®E | BH | 0.27
|10 | ®me | =88 035 | ®E& | =8| 0.28 | ®E | EH | 0.27
20 | me | &8 | 0.30 | me | B | 027 | e B8 | 0.27
21 | me | =89 030 | ®E | =8| 0.27 | \E | E=B | 0.28
2 | me | &R | 0.28 | me | B | 0.28 | e | B8 | 0.28
23 | me | =89 | 0.28 | W | =89 | 0.28 | |BE | EH | 0.25
24 | me | B8R | 0.28 | mE | B8 | 0.28 | mE | BB 0.25
|25 | me | #89 | 0.28 | W | =89 | 0.28 | |®E | EH | 0.30
26 | me | B8R | 0.27 | me | 3B | 0.30 | e | B8 | 0.30
27 | ®e | =88 | 0.27 | ®E | =89 | 0.30 | |E | EH | 0.30
28 | me | B8R | 0.25 | me | B | 0.27 | e | B8 | 0.30
|20 | ®e2 | =88 | 0.25 | ®E | =89 | 0.27 | |®E | E=B | 0.28
30 | me | #8A | 0.28 | me | B | 0.27 | e B8 | 0.28
31 | mE B 0.27
BA] 0.35 0.43 0.37
=1 0.23 0.27 0.25
| & oo PEER

(mg/L)

1 0.29
BA] 0.43
) 0.23




SH7¥6E SHRBEDER p- 319

oKt B

BK3G: BUBMX FOKMEES: B BERKES IBFE: 2R3B KR . EIEKE

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.25 | | | &9A | 0.33 | M | 388 | 0.40
2 | me B8 035 | mE& B8 0.33 | |E | B | 0.40
| 3 | ®me =8 035 | ®mE& | =89 0.33 | & | EH | 0.50
4 | me | B 030 | me | B 0.30 | |E | B8 | 0.50
|5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | & | 0.27
6 | me B8 0.28 | mE B8 0.27 | | | B | 0.27
| 7 | me =8 028 | ®mE | =8| 0.27 | |E& | EH | 0.30
8 | me 38 030 | mE& B8 0.32 | |E | B | 0.30
| o | e =8 030 | ®mE | =8| 0.32 | & | & | 0.32
10 | e | 0 | 0.30 | M | 0 | 0.30 | @& | BH | 0.32
|11 | ®me | =89 | 030 | ®E | =89 | 0.30 | |E | EH | 0.27
12 | e | B0 | 0.30 | & | B0 | 0.35 | |®E | B | 0.27
|13 | ®me | =89 | 030 | ®E | =8 | 0.35 | |E | EH | 0.25
14 | me | B0 0.25 | me | B0 | 0.35 | ®E | &)\ | 0.25
|15 | ®e | =88 | 0.25 | ®E& | =89 | 0.35 | |E | EB | 0.28
16 | e | #0A | 0.30 | M | 0 | 0.28 | mE | ®HA | 0.28
|17 | e | =88 | 030 | ®E | =89 | 0.28 | |®E | E=B | 0.28
18 | e | B | 0.35 | M | 0 | 0.35 | |®E | &8 | 0.28
|19 | ®me | =88 035 | || =8| 0.35 | |E | EB | 0.35
20 | me | &8 | 0.30 | Mme | B8 | 0.28 | MmE | BB 0.35
21 | m& | #8030 | ®E | =89 | 0.28 | |®E | E=B | 0.28
2 | me | &)\ 027 | me | B8 | 035 | e B8 | 0.28
23 | e | =88 | 0.27 | ®E | =89 | 0.35 | |E | EH | 0.25
24 | me | B | 0.30 | WM | B8R | 0.30 | mE | BB 0.25
|25 | m& | =89 0.30 | ®E | =8 | 0.30 | |E | EB | 0.25
26 | me | & | 0.30 | me | B8R | 0.28 | mE | BB 0.25
27 | e | =89 | 030 | ®E | =89 | 0.28 | |®E | EB | 0.25
28 | me | @A | 0.28 | me | B | 0.28 | MmE | BB 0.25
|20 | m& | =88 | 0.28 | W | =89 | 0.28 | |®E | EB | 0.25
30 | me | @A | 0.33 | me | B8R | 0.35 | MmE | BB 0.25
31 | me B 035 |~~~
7 T e e [ [ O e~ o o —
Bx. . . .
=1 0.25 0.27 0.25
| & oo PEER
(mg/L)

1 0.30
BA] 0.50
) 0.25




SH7¥6E SHRBEDER p- 320

BoKibR:  REA

Bok3ge: HFESMX KBS : S AKIE NigFE: 1ERES KR 1 FEEKIER

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.28 | MW | B9A | 0.35 | M | 388 | 0.42
2 | me B8 035 | mE& B8 035 | |mEe | B | 0.42
| 3 | ®me =8 035 | ®mE | =89 | 0.35 | \E | & | 045
4 | me | B 030 | me | BB | 035 | mE | B 0.45
|5 | ®m& =8 030 | ®E& | =8| 0.35 | |E | EB | 0.35
6 | me B8 | 027 | ®m& | B8 | 0.33 | ®mE | B | 0.35
| 7 | me =8 027 | ®mE& | =89 033 | ®E& | &8 | 037
8 | me B8 033 | mE& B8 0.30 | |E | B | 0.37
| o | e =88 033 | ®mE& | =89 030 | \E | E=H | 0.28
10 | & | 0 | 0.30 | M | B0 | 0.27 | |®& | &8 | 0.28
|11 | me | =89 | 030 | ®Ee | =89 | 0.27 | |E | E=H | 0.28
12 | e | B0 | 0.28 | M | B0 | 0.40 | mE | BH | 0.28
|13 | ®e | =89 | 0.28 | ®ee | B89 | 0.40 | | | B | 0.33
14 | me | B0 0.30 | e | B0 | 0.40 | mE | ®H | 0.33
|15 | ®& | =88 | 0.30 | ®E | =8 | 0.40 | |E | BB | 0.32
16 | me& | #0A | 0.32 | me | B0 | 0.33 | ®E | B | 0.32
|17 | me | =8 032 | ®E& | =89 | 0.33 | & | & | 0.32
18 | e | B | 0.35 | M | 0 | 0.38 | @& | &M | 0.32
|10 | ®me | =88 035 | ®E | =89 | 0.38 | |®E | EB | 0.35
20 | me | &m0 | 0.38 | me | B | 0.33 | me | BB 0.35
21 | me | =89 038 | W2 | =89 | 0.33 | |E | EH | 0.35
2 | me | &) | 0.35 | me | B8R | 0.38 | me | BB 0.35
23 | me | #8035 | || =89 | 0.38 | |BE | E=H | 0.28
24 | me | B8R | 0.35 | Mme | B | 0.32 | e B8 | 0.28
|25 | m& | #8035 | W | =89 | 0.32 | |E | EH | 0.28
26 | me | ®8A | 0.35 | e | B | 033 | e B8 | 0.28
27 | e | =88 | 035 | ®E | =8| 0.33 | |E& | EH | 0.30
28 | me | &8 | 0.33 | Mme | B | 0.35 | e | B8 | 0.30
|20 | ®e | =88 | 033 | ®E | =89 | 0.35 | |E | & | 0.32
30 | me | B8R | 0.35 | Mme | B | 033 | mEe | B8 | 0.32
31 | me B 033 |~~~
7 T e T [ [ O o~ o~ o —
Bx. . . .
=1 0.27 0.27 0.28
| & oo PEER
(mg/L)

1 0.33
BA] 0.45
) 0.27




SH7¥6E SHRBEDER p. 321

Bokithsr: A

Bok3g: A HOKHESR:  BEKis IFFSE: EBR3E KR - &R

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.25 | W | &9 | 0.38 | M | 388 | 0.32
2 | me B8 025 | me | B8 0.25 | ®mE | B8 | 0.25
| 3 | ®me =8 025 | ®mE& | =8| 027 | |E | EH | 0.25
4 | me B 025 | me | B 0.27 | |E | B8 | 0.25
|5 | & =8 025 | ®E& | =89 | 0.30 | \|E | EB | 0.25
6 | me B8 | 0.25 | mE& | B8 | 0.30 | ®E | B8 | 0.25
| 7 | me =8 025 | ®mEe | =89 | 0.27 | \E | EH | 0.25
8 | me B8 025 | mE& B8 027 | |mE | B | 0.27
| o | e =8 | 025 | ®E | =8| 0.28 | |®E | EH | 0.27
10 | e | 0 | 0.25 | M | E0A | 0.28 | @& | BB | 0.20
|11 | me | =89 | 030 | ®E | =89 | 0.25 | |E& | EH | 0.20
12 | e | B0 0.30 | mE | B0 | 0.25 | mEe | &)\ | 0.25
|13 | ®me | =8 | 037 | ®E& | =89 | 0.23 | |E& | EH | 0.25
14 | me | B 037 | me | B | 0.23 | me | &)\ 0.23
|15 | ®& | =88 | 030 | ®mee | B89 | 0.27 | |E | BHA | 0.23
16 | e | #0A | 0.30 | M | B0 | 0.27 | @& | B8 | 0.20
|17 | e | =89 | 035 | ®E& | =89 | 0.30 | |E& | EH | 0.20
18 | e | BB | 0.35 | & | B8 | 0.30 | |®E& | &M | 0.23
|19 | ®& | =88 | 030 | ®ee | B89 | 0.28 | | | BHA | 0.23
20 | me | &8 | 0.30 | me | B8R | 0.28 | me | BB 0.23
21 | ®& | =89 030 | ®mee | B89 | 0.25 | |E | BHA | 0.23
22 | me | &R | 0.30 | me | B | 0.25 | e B8 | 0.22
23 | me | #8035 | || =89 | 0.38 | |BE | EH | 0.22
24 | me | B8R | 0.35 | me | B8R | 0.38 | me | B8 0.23
|25 | ®& | =89 | 030 | ®mee | 89 | 0.35 | |E | BHA | 0.23
26 | me | B8R | 0.30 | e | B | 035 | e | B8 | 0.22
27 | ®me | =89 | 033 | ®E | =89 | 0.25 | \E | & | 0.22
28 | me | B8R | 0.33 | me | B | 0.25 | e B8 | 0.22
|20 | me | =89 | 038 | ®E | =89 | 0.27 | |®E | EH | 0.22
30 | me | B8R | 0.38 | me | B | 0.27 | e B8 | 0.20
31 | mE B 0.32
A 0.38 0.38 0.32
=1 0.25 0.23 0.20
| & oo PEER
(mg/L)

1 0.27
BA] 0.38
/) 0.20




SH7¥6E SHRBEDER p. 322

BokiteR: AW

Bo/K3ge:  AELET KRR AELLETECK NiBFE: 1ERES KR ¢ RELUEDKIR

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.32 | | | &9A | 0.38 | Me | 388 | 0.38
2 |me B8 032 | m& B8 035 | |mEe | B | 042
|3 | ®me =8 032 | ®mE | =8| 037 | ®E& | & | 042
4 | me | B0 032 | me | BE) | 037 | me | BB 045
|5 | ®me =8 033 | ®E& | =89 | 035 | |E | & | 045
6 | me B8 | 033 | mE& | B8 | 0.35 | mE | B8 | 0.45
| 7 | me& =8 030 | ®E& | =89 | 0.30 | |E | BB | 045
8 | me &8 | 030 | ®me& | B8 | 0.30 | ®mE | B | 0.35
| o | e =8 035 | ®E& | =89 | 0.28 | ®E | EB | 0.35
10 | & | 0 | 0.35 | M | B0 | 0.28 | mE | ®H | 0.32
|11 | ®me | =88 | 035 | ®E& | =89 | 0.30 | |E | & | 0.32
12 | e | B0 | 0.35 | e | 0 | 0.30 | mE | &8 | 0.38
|13 | ®me | =8 | 037 | ®mEe | =8| 0.32 | \E& | E=H | 0.38
14 | me | B0A | 0.37 | |mE | B0 | 0.32 | ®E | B8 | 0.40
|15 | ®e | =88 | 033 | | | =89 | 0.35 | |E | EH | 0.40
16 | e | #0A | 0.33 | M®E | B0 | 0.35 | @& | B8 | 0.40
|17 | e | =89 | 038 | | | =89 | 0.38 | & | EH | 0.40
18 | e | BB | 0.38 | M | BB | 0.38 | ®E | &M | 0.35
|10 | me | =88 037 | ®E | =8| 0.32 | |E& | EH | 0.35
20 | me | B8R | 0.37 | me | B | 0.32 | e B8 | 0.40
21 | me | #8035 | | | =89 | 0.38 | |BE | EH | 0.40
2 | me | #8E | 0.35 | me | B | 0.38 | e | B8 | 0.40
23 | me | =89 033 | | | =89 | 0.27 | |E | EH | 0.40
24 | me | B8R | 033 | me | B | 027 | e B8 | 0.30
|25 | me | =89 | 037 | | | =89 | 0.30 | |E | EH | 0.30
26 | me | &R | 0.37 | me | B | 0.30 | e | B8 | 0.37
27 | e | =88 | 0.28 | ®E | =8 | 0.40 | |E | EH | 0.37
28 | me | B | 0.28 | e | B | 0.40 | mE | B8 | 0.32
|20 | m& | =89 | 0.38 | | | =8 | 0.40 | |E | BB | 0.32
30 | me | B8 | 0.38 | M | BB | 0.40 | MmE | BB | 0.45
31 | me B 03 |~~~
o nbonbonb—- B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.28 0.28 0.30
| & oo PEER
(mg/L)

1 0.36
BA] 0.45
/) 0.28




SH7¥6E SHRBEDER p- 323

kiR RES

i\ ETH E£ KBRS  ERERFKEG WIBFE: 2R3B KR BZKIE

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | M| | B9A | 0.20 | MW | 38 0.21
2 | me B8 020 | mE& B8 0.20 | |E | B8 | 0.20
| 3 | ®me =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
4 | me B 020 | me | B 0.20 | |mE | B8 | 0.22
|5 | ®m& =8 020 | ®E | =89 | 0.20 | |®E | EH | 0.22
6 | me B8 0.20 | ®mE B8 0.20 | |E | B8 | 0.20
| 7 | me& =8 020 | ®mE | =8| 0.22 | ®E | EH | 0.20
8 | me B8 020 | mE B8 0.22 | |E | B8 | 0.20
| o | ®me =88 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
10 | e | 0 | 0.20 | ME: | BBA | 0.20 | W& | BB | 0.20
|11 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
12 | e | B0 | 0.20 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =8 | 0.22 | |®E | EH | 0.20
14 | me | B0 0.20 | e | B0 | 0.22 | |®E | B | 0.20
|15 | ®me | =8 | 0.22 | ®E | =89 | 0.20 | |E | EH | 0.20
16 | e | B0 | 0.22 | me | B0 | 0.20 | ®E | &) | 0.23
|17 | e | =8 | 0.22 | ®me& | B89 | 0.20 | |E | BHA | 0.23
18 | e | W0 | 0.22 | e | B0 | 0.20 | W& | BB | 0.20
|19 | ®& | =88 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
20 | me | B8 | 0.20 | e | EEA | 0.20 | e | E8A | 0.20
21 | me | #8020 | ®E | =8 | 0.20 | |BE | EB | 0.20
22 | me | #8A | 0.20 | e | B | 0.20 | e | E8A | 0.20
23 | me | =88 0.20 | ®E | =8 | 0.22 | |®E | EH | 0.20
24 | me | B8R | 0.20 | e | 3B | 022 | e B8 | 0.20
|25 | me | =88 | 0.22 | ®Ee | =89 | 0.22 | |\E | EH | 0.20
26 | me | B8R | 0.22 | me | B8 | 022 | e B8 | 0.20
27 | e | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
28 | me | B8 | 0.20 | e | B | 0.20 | e | E8A | 0.20
|20 | ®& | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
30 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
31 | me Bh 02 |~~~
7 MmO o~ o o
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.20
BA] 0.23
) 0.20
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skt Il

Bok3ge:  #&ll KRR &) FUKE WIBFE: 2R3B KGR - R

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.27 | | | &9 | 0.30 | MW | B8 | 0.35
2 |me B8 027 | me | B8 037 | ®mE | B | 0.33
| 3 | ®me =8 | 025 | ®mee | #89 | 0.35 | | | BHA | 0.33
4 | me B 025 | me | B 0.35 | |E | B8 | 0.33
|5 | ®m& =8 037 | ®me | B89 0.33 | |E | BH | 033
6 | me B8 037 | mE& B8 0.33 | |\mE | B | 0.27
| 7 | me =8 037 | ®mE& | =89 0.30 | |E | &8 | 0.27
8 | me &8 | 037 | m& | B8 | 030 | ®mE | B | 0.35
| o | e =88 030 | ®E& | =8| 0.23 | |E | EH | 0.35
10 | & | B0 | 0.30 | M | B0 | 0.23 | @& | BB | 0.40
|11 | me | =89 | 035 | | | =89 | 0.28 | |BE | EH | 0.40
12 | e | B0 | 0.35 | e | B0 | 0.28 | @& | BB | 0.40
|13 | ®me | =8 | 037 | ®E | =89 | 0.25 | |E | EH | 0.40
14 | me | B0A | 0.37 | |®E | B0 | 0.25 | |®E | B | 0.40
|15 | me | =89 | 0.28 | ®E | =89 | 0.32 | |E | EH | 0.40
16 | e | #0A | 0.28 | M | B0 | 0.32 | @& | BH | 0.40
|17 | e | =89 | 0.28 | ®E | =89 | 0.32 | |E | EH | 0.40
18 | e | B | 0.28 | M | HB0A | 0.32 | |®E | &M | 0.40
|19 | ®me | =88 | 0.25 | | | =8 | 045 | |E | BB | 0.40
20 | me | B8 | 0.25 | e | B | 0.45 | e | B8 | 0.38
21 | me | =89 | 0.28 | ®E | =89 | 0.35 | |E | E=B | 0.38
2 | me | &) | 0.28 | me | B8 | 0.35 | Mme | BB 0.35
23 | me | #8040 | B | =8 | 045 | |E | BB | 0.35
24 | me | B | 0.40 | WM | B | 0.45 | M| | BB 0.25
|25 | me | =89 | 040 | B | 8 | 045 | |E | BB | 0.25
26 | me | B | 0.40 | mE | BB | 0.45 | MmE | BB | 0.25
27 | e | =89 | 040 | B =89 | 0.33 | |E | EH | 0.25
28 | me | B8R | 0.40 | e | B | 033 | e | B8 | 0.27
|20 | ®& | =88 | 0.30 | ®E | =89 | 0.30 | |E | E=H | 0.27
30 | me | ®8A | 0.30 | me | B | 0.30 | e | B8 | 0.27
31 | me B 035 |~~~
o nbonbonb o B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.25 0.23 0.25
| & oo PEER
(mg/L)

1 0.33
BA] 0.45
/) 0.23




SH7¥6E SHRBEDER p- 325

kiR R

Bok3ge: ERSE AFUKHERR: ERSREKIE WIBFE: 2R3B KR . ERSRKE

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.27 | W | &9 | 0.25 | M| | B8 | 0.25
2 |me B8 027 | ®me | B8 020 | ®E | B | 0.25
| 3 | ®me =8 025 | ®mE& | =89 0.25 | |E | EB | 0.25
4 | me B 025 | me | B 0.25 | |mE | B8 | 0.27
|5 | ®me =8 025 | ®mE | =8| 0.25 | \E | & | 0.27
6 | me B8 0.25 | mE B8 0.25 | | | B8 | 0.30
| 7 | me =8 023 | ®E& | =89 | 0.20 | |E | EH | 0.30
8 | me B8 023 | mE& B8 0.20 | |E | B0 | 0.28
| o | e =8 | 025 | W& | =89 | 0.30 | \|E | E=H | 0.28
10 | e | B0 | 0.25 | e | B0 | 0.30 | ®E | &M | 0.25
|11 | me | =88 | 035 | | | =89 | 0.22 | |E | EH | 0.25
12 | me | B0 0.35 | me | B0 | 0.22 | me | &)\ | 0.25
|13 | ®me | =8 | 025 | | | =89 | 0.27 | |E& | EH | 0.25
14 | me | B 0.25 | e | B | 027 | mE | &)\ | 0.25
|15 | ®e | =88 | 0.25 | ®E | =89 | 0.32 | |E | EH | 0.25
16 | & | 0 | 0.25 | M | B0 | 0.32 | |mE | &8 | 0.28
|17 | ®me | =8 | 022 | ®mE& | =89 | 0.28 | |®E | E=B | 0.28
18 | me& | W0 | 0.22 | e | 0 | 0.28 | |mE | BH | 0.22
|10 | e | =8 027 | ®E& | =89 | 0.30 | |E | & | 0.22
20 | me | &8 | 0.27 | e | B | 0.30 | e B8 | 0.20
21 | me | #8025 | ®E | =89 | 0.25 | |E | EH | 0.20
2 | me | &) | 0.25 | me | B8R | 0.25 | Mme | BB 0.25
23 | me | #8022 | ®mE | =89 | 0.22 | \E | EH | 0.25
24 | me | ®mA | 0.22 | me | B8R | 0.22 | me | BB 0.25
|25 | me | =89 | 0.30 | ®E | =8 | 0.25 | |\E | EB | 0.25
26 | me | & | 0.30 | mE | B8R | 0.25 | MmE | BB 0.25
27 | ®me | =88 | 0.22 | ®E | =89 | 0.20 | |®E | EB | 0.25
28 | me | B8R | 0.22 | me | B | 0.20 | e | B8A | 0.28
|20 | ®e2 | =88 | 0.25 | ®E | =89 | 0.27 | |®E | E=B | 0.28
30 | me | B8R | 0.25 | me | B | 027 | mEe | B8 | 0.27
31 | me B 02 |~~~
7 TEL—n — m — — — — — — — — —
Bx. . . .
=1 0.22 0.20 0.20
| & oo PEER
(mg/L)

1 0.25
BA] 0.35
) 0.20




SH7¥6E SHRBEDER p- 326

kit FEEE

Bok3g: TEIE AOKHESR: TEGERKES IBFE: 2R3B KR . BEKR

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 |®me | & 027 | & | B | 045 | & | iE8H | 0.47
2 |me B8 027 | me& B8 035 | |mE | B | 0.40
| 3 | ®me =8 028 | W | =89 | 0.40 | |E | EH | 0.40
4 | me | B0 028 | mE | B | 040 | MmE | BB 0.35
|5 | ®m& =8 035 | ®E& | =89 | 0.38 | |E | EH | 0.35
6 | me B8 035 | mE | B8 0.38 | |E | B8 | 0.40
| 7 | e =8 027 | ®mE | =8| 045 | |E | BB | 0.40
8 | me B8 027 | mE& B8 045 | | | B | 0.38
| o | e =8 035 | ®E& | =89 0.30 | \E | EH | 0.38
10 | e | 0 | 0.35 | M | E0A | 0.30 | @& | BB | 0.40
|11 | me | =8 | 048 | ®E | =89 | 0.27 | |E | EH | 0.40
12 | me | B0 048 | me | B0 | 027 | m& | &)\ | 0.25
|13 | ®me | =89 | 045 | ®E | =89 | 0.30 | |E | EH | 0.25
14 | e | B0A | 0.45 | M | B0 | 0.30 | @& | BB | 0.30
|15 | m& | =89 | 038 | | | =8 | 045 | |E | EH | 0.30
16 | e | B0 | 0.38 | e | B0 | 0.45 | mE | &M | 0.33
|17 | ®& | =89 | 035 | | | B89 | 0.40 | | | BB | 0.33
18 | e | BB | 0.35 | M | B8 | 0.40 | |mE | BH | 0.35
|19 | me | =89 038 | ®E | =89 | 0.35 | |E | EH | 0.35
20 | me | B8 | 0.38 | MmE | B | 0.35 | MmE | BB | 0.45
21 | me | #8045 | ®E | =89 | 040 | |E | BB | 045
22 | me | B | 0.45 | mE | B | 0.40 | MmE | BB 0.45
23 | me | #8048 | B | 89 | 045 | |E | BB | 045
24 | me | B | 0.48 | M | BB | 0.45 | WM | BB | 0.45
|25 | me | #89 | 0.38 | ®Ee | 8 | 045 | |E | BB | 045
26 | me | B8R | 0.38 | mE | B | 0.45 | e | B8 | 0.30
27 | ®me | =89 | 045 | ®E | =89 | 0.50 | |E | EH | 0.30
28 | me | &I | 0.45 | MmE | B8 | 0.50 | MmE | BB 0.25
|20 | me2 | =88 | 045 | ®E | =89 | 0.37 | |E | EH | 0.25
30 | me | B8R | 0.45 | mE | BB | 0.37 | mE | BB 0.25
31 | mE B | 0.47
BA] 0.48 0.50 0.47
=1 0.27 0.27 0.25
| & oo PEER
(mg/L)

1 0.38
BA] 0.50
) 0.25




SH7¥6E SHRBEDER p. 327

Bkt KH

EokFge:  #lll AOKRESR:  FEKIR NigFE: 1ERES KR - BIKIE

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 |®me | &) 027 | | | B | 0.25 | & | i#8H | 0.32
2 |me B8 027 | me& B8 025 | |mEe | B | 032
| 3 | ®me =8 028 | ®E | =89 | 040 | |E | EH | 0.32
4 | me | B8R 028 | me | B 040 | MmE | B | 0.27
|5 | ®me =8 023 | ®mE& | =89 0.30 | |E | & | 0.27
6 | me B8 | 0.23 | ®mE& | B8 | 0.30 | ®mE | B | 0.43
| 7 | & =8 | 025 | ®e | B89 | 0.25 | | | BHA | 0.43
8 | me B8 | 0.25 | me& | B8 | 0.25 | ®|E | B | 0.45
| o | ®me =8 030 | ®E | =89 | 0.25 | \E | BB | 045
10 | e | 0 | 0.30 | M | B0 | 0.25 | @& | BB | 0.40
|11 | me | =8 | 027 | ®E | =89 | 0.23 | \E | EH | 0.40
12 | me | B 0.27 | me | B8 | 0.23 | m& | &)\ | 0.55
|13 | ®me | =8 | 025 | | | =89 | 0.25 | |®E | EB | 0.55
14 | me | B0 0.25 | |mE | B0 | 0.25 | mE | &)\ | 0.45
|15 | ®e | =88 | 0.25 | | | =89 | 0.23 | |E | EH | 045
16 | & | #0A | 0.25 | M | B0 | 0.23 | |®E | &8 | 0.52
|17 | e | =88 | 023 | ®E | =89 | 0.25 | |E | EH | 0.52
18 | e | B | 0.23 | M | B0 | 0.25 | @& | BB | 0.50
|10 | me | =88 0.22 | ®E | =89 | 0.25 | |E& | EH | 0.50
20 | me | B8R | 0.22 | e | B | 0.25 | e | B8 | 0.48
21 | me | #8025 | W | =89 | 0.28 | |BE | EB | 048
2 | me | &R | 0.25 | me | B | 0.28 | e | B8 | 0.50
23 | e | =88 | 0.27 | ®E | =89 | 0.28 | |E | EB | 0.50
24 | me | ®mA | 0.27 | me | B8R | 0.28 | mE | BB 0.35
|25 | me | =88 | 0.23 | ®e | =8 | 0.27 | |\E | EB | 0.35
26 | me | B8R | 0.23 | me | B8 | 027 | e B8 | 037
27 | ®me | =88 | 0.25 | ®E | =8 | 0.25 | |E | EH | 0.37
28 | me | B8R | 0.25 | e | B | 0.25 | e | B84 | 0.28
|20 | me | =88 | 035 | ®E | =89 | 0.23 | |E | E=H | 0.28
30 | me | B8R | 0.35 | me | B | 0.23 | e B8 | 0.32
31 | mE B 0.32
BA] 0.35 0.40 0.55
=1 0.22 0.23 0.27
| & oo PEER
(mg/L)

1 0.31
BA] 0.55
) 0.22




SH7¥6E SHRBEDER p- 328

kit PR

i\ ETH =312 KNGS : h BKIE WIRFE:. BRES KR h BKIE

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | M| | &9A | 0.22 | MW | 388 | 0.20
2 | me B8 020 | mE& B8 022 | | | B | 0.20
|3 | ®me =8 022 | ®mEe | =8| 022 | ®E | & | 0.20
4 | me 3| 022 | me | B8 022 | |mE | B8 | 0.20
|5 | ®me =8 023 | ®mE& | =89 | 0.20 | |E | EH | 0.20
6 | me B8 0.23 | mE& B8 0.20 | | | B8 | 0.20
| 7 | me& =8 023 | ®mE& | =89 | 0.20 | |E | & | 0.20
8 | me B8 023 | mE& B8 0.20 | |E | B | 0.20
| o | ®me =88 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
10 | & | 0 | 0.20 | M | E0A | 0.20 | | | BHA | 0.22
|11 | me | =8 | 023 | ®E& | =89 | 0.20 | \E | EH | 0.22
12 | e | B0 | 0.23 | me | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =8 | 0.22 | |®E | EH | 0.20
14 | me | B0 0.20 | e | B0 | 0.22 | |®E | B | 0.20
|15 | ®& | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
16 | & | #0A | 0.20 | M | 0 | 0.20 | @& | BB | 0.20
|17 | e | =8 | 0.22 | ®E& | =89 | 0.20 | |E | EH | 0.20
18 | e | W0 | 0.22 | e | B0 | 0.20 | W& | BB | 0.20
|10 | ®me | =88 022 | ®E& | =89 | 0.20 | |E | EH | 0.20
20 | me | B8R | 0.22 | e | B | 0.20 | e | E8A | 0.20
21 | me | #8020 | ®E | =8 | 0.20 | |BE | EB | 0.20
22 | me | #8A | 0.20 | e | B | 0.20 | e | E8A | 0.20
23 | me | #8023 | ®E | =89 | 0.20 | |E | EH | 0.20
24 | me | B8R | 0.23 | me | B8 | 020 | e B8 | 0.20
|25 | ®& | =89 | 0.20 | ®E | 8 | 0.20 | |E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | ®me | =88 | 0.22 | ®E | =89 | 0.20 | |E | EH | 0.20
28 | me | B8R | 0.22 | e | B | 0.20 | e | B8 | 0.20
|20 | me2 | =88 | 0.22 | ®E | =89 | 0.20 | |®E | EB | 0.20
30 | me | ®8A | 0.22 | me | B8 | 020 | e B8 | 0.20
31 | me Bh 02 |~~~
7 I m e e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.21
BA] 0.23
/) 0.20




SH7¥6E SHRBEDER p- 329

oKt R

BKIHR:  £EB BKNERR:  EBKE NigFE: 1ERES KR - EBKE

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.27 | W | &9 | 0.25 | M | &88 | 0.28
2 |me B8 027 | ®me | B8 025 | ®mE | B | 0.35
| 3 | ®me =8 028 | ®mE | =89 | 0.22 | ®E | EH | 0.35
4 | me B 028 | me | B 0.22 | ®mE | B8 | 035
|5 | e =8 028 | ®mE | =8| 0.25 | |E | EB | 0.35
6 | me B8 0.28 | mE B8 0.25 | |E | B8 | 0.30
| 7 | me =8 028 | ®mE | =8| 0.27 | |E& | EH | 0.30
8 | me B8 028 | mE& B8 0.27 | |E | B8 | 0.30
| o | ®me =8 | 027 | ®mE& | =89 | 0.28 | \E | EH | 0.30
10 | e | B0 | 0.27 | | | B0 | 0.28 | |mE | &M | 0.27
|11 | me | =8 | 025 | | | =89 | 0.28 | |®E | EH | 0.27
12 | me | B8 | 0.25 | me | B0 | 0.28 | mE | &M | 0.35
|13 | ®me | =8 | 025 | | | =89 | 0.23 | |E | EH | 0.35
14 | me | B 0.25 | me | B0 | 0.23 | me | &)\ | 0.33
|15 | ®e | =8 | 0.23 | ®me | 89 | 0.25 | |E | BH | 0.33
16 | e | #0A | 0.23 | M | B0 | 0.25 | @& | B8 | 0.30
|17 | e | =8 | 025 | | | =89 | 0.25 | |E& | EH | 0.30
18 | e | B | 0.25 | M | B0 | 0.25 | mE | &0 | 0.28
|10 | ®me | =88 | 025 | ®E | =89 | 0.25 | |®E | E=B | 0.28
20 | me | B8 | 0.25 | e | B | 0.25 | e | B8 | 0.30
21 | me | #8025 | W | =89 | 0.28 | |\E | EH | 0.30
2 | me | &R | 0.25 | me | B | 0.28 | e | B8 | 0.27
23 | e | =88 | 0.27 | ®E | =89 | 0.30 | |E | & | 0.27
24 | me | B8R | 0.27 | me | B8R | 0.30 | me | BB 0.25
|25 | me | #8025 | W | =8 | 0.27 | |BE | EB | 0.25
26 | me | @A | 0.25 | me | B | 0.27 | | | BB 0.25
27 | e | =88 | 0.25 | ®E | =89 | 0.30 | |E | EB | 0.25
28 | me | B8R | 0.25 | Mme | B | 0.30 | e | B8 | 0.27
|20 | m& | =88 | 0.30 | ®E | =8 | 0.27 | ®E | EH | 0.27
30 | me | B8R | 0.30 | me | B | 027 | e B8 | 0.27
31 | me B 0 |~~~
7 EL—m o w — — — — — — — — —
Bx. . . .
=1 0.23 0.22 0.25
| & oo PEER
(mg/L)

1 0.27
BA] 0.35
) 0.22




SH7¥6E SHRBEDER p- 330
Bokithes: REB

Bk3HR:  BE HOKHESR: REFKS WIBFE: 2R3B KR - REBKE

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE

=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) = (mg/L) = (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.34 | | | &9 | 0.36 | M | B8 | 0.40

2 | me B8 020 | mE& B8 0.35 | |mE | B | 0.40
| 3 | ®m& =8 020 | ®mee | B89 | 0.35 | | | BHA | 0.43

4 | me | B0 027 | me | BEW | 035 | me | EW | 043
|5 | ®me =8 027 | ®mE | =8| 035 | \E | BB | 045

6 | me B8 | 0.28 | mE& | B8 | 0.37 | ®|E | B | 0.45
| 7 | me =8 028 | ®mE | =8| 0.37 | |E | & | 0.44

8 | me B8 020 | mE& B8 0.38 | |E | B | 0.44
| o | e =8 | 020 | ®E | =89 | 0.38 | |BE | EB | 0.49
10 | & | 0 | 0.20 | M | E0A | 0.35 | @& | BB | 0.49
|11 | me | =89 | 0.20 | ®E | =89 | 0.35 | |BE | EH | 045
12 | me | B0 039 | me | B0 | 0.33 | ®E | &) | 045
|13 | ®me | =8 039 | | | =89 | 0.33 | |E | EH | 045
14 | me | B0 0.51 | me | B0 | 0.33 | mE | B | 0.45
|15 | ®& | =88 | 051 | | | =89 | 0.33 | |E | EH | 045
16 | e | #0A | 0.47 | |mE | B0 | 0.31 | ®E | B | 0.45
|17 | e | =8 | 047 | ®E | =89 | 0.31 | |E | EH | 046
18 | e | B | 0.38 | M | B0 | 0.41 | |®E | BB | 0.46
|10 | ®m& | =89 038 | | | =8 | 041 | |E | BB | 045
20 | me | B8R | 0.37 | M | B | 0.42 | mE | BB 0.45
21 | me | =88 | 037 | ®mee | B89 | 0.42 | |E | BH | 0.41
2 | me | B | 043 | mE | BH | 041 | mE | EA | 0.41
23 | ®e | =80 | 043 | | | B89 | 041 | |E | BH | 0.41
24 | me | B | 0.41 | WM | B8R | 0.35 | WM | B 0.41
|25 | me | =89 041 | ®E | =8| 0.35 | |E | & | 0.27
26 | me | B8R | 0.38 | me | B | 037 | e B8 | 0.27
27 | ®me | =89 | 038 | ®E | =89 | 0.37 | |E | EH | 0.22
28 | me | B8R | 0.36 | Mme | B | 033 | e | B8 | 0.22
|20 | ®& | =89 | 036 | W2 | =89 | 0.33 | |E | EH | 0.26
30 | me | B8R | 0.36 | MmE | B | 0.34 | M B8 | 0.26
31 | mE B 0.34
A 0.51 0.42 0.49
=1 0.20 0.31 0.22
| & oo PEER

(mg/L)

1 0.37
BA] 0.51
/) 0.20




SH7¥6E SHRBEDER p. 331

Bokithea: EEF

Bk3HR:  BE HOKHESR: REFKS WIBFE: 2R3B KR - REBKE

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.36 | MW | &9A | 0.36 | M | 388 | 0.3/
2 | me B8 025 | mE& B8 0.35 | mEe | B | 0.37
| 3 | ®me =8 025 | ®mE& | =89 035 | \E | & | 044
4 | me B 034 | mEe | B8 034 | mE | B | 0.44
|5 | ®me =8 034 | ®mE | =8| 034 | |\E | B | 044
6 | me | B | 032 | me | B | 0.34 | MmE | B0 | 0.44
| 7 | e =8 032 | ®mE | =8| 0.34 | BE | B | 044
8 | me B8 020 | ®mE B8 0.36 | |mE | B | 0.44
| o | e =8 | 020 | ®E | =89 | 0.36 | |E | BB | 047
10 | & | B0 | 0.20 | M | BE0A | 0.32 | |®E | &M | 0.47
|11 | ®e | =89 | 0.20 | ®ee | B89 | 0.32 | | | BHA | 0.43
12 | me | B 041 | mE | B0 | 0.33 | mE | &)\ | 043
|13 | ®me | =8 | 041 | ®mE | =89 | 033 | |BE | & | 044
14 | me | B0 0.49 | e | B0 | 0.31 | |®E | B | 0.44
|15 | ®& | =88 | 049 | W | =89 | 0.31 | |E | BB | 045
16 | e | B0 | 0.47 | |mE | B0 | 0.30 | ®E | B | 0.45
|17 | & | =8 | 047 | ®E | B89 | 0.30 | | | BHA | 0.43
18 | e | BB | 0.37 | |®E | B0 | 0.46 | @& &M | 0.43
|10 | me | =88 037 | B | =89 | 046 | |E | EH | 0.44
20 | me | B8 | 0.35 | e | B | 0.48 | e | B8 | 0.44
21 | me | #8035 | W | =89 | 048 | |E | E=H | 0.38
2 | me | B | 043 | me | B8 | 039 | e | B8 | 0.38
23 | me | =89 | 043 | ®me | B89 | 0.39 | |E | BH | 0.23
24 | me | BmA | 0.42 | mE | B8 | 0.35 | me | B 0.23
|25 | me2 | #8042 | ®E | =8| 0.35 | |E | EH | 0.25
26 | me | B | 0.40 | mE | B8 | 0.33 | WM | BB 0.25
27 | e | =88 | 040 | B | =89 | 0.33 | |E | & | 0.24
28 | me | B8R | 0.37 | me | B | 032 | mEe | B8 | 0.24
|20 | me | =88 | 037 | ®E | =8| 0.32 | |E | &= | 0.24
30 | me | B8R | 0.36 | me | B | 0.32 | e B8 | 0.24
31 | me BH 032 |~~~
7 L e e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.30 0.23
| & oo PEER
(mg/L)

1 0.36
BA] 0.49
/) 0.20




SH7¥6E SHRBEDER p. 332

BoKitR:  BR

Bok3ge: =M AUKHESR:  AEEFKIS WIBFE: 2R3B KR ¢ AEEKIR

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.34 | | | B9 | 0.28 | M | B0 | 0.44
2 | me B8 034 | me | B8 0.28 | mE | B8 | 0.51
| 3 | ®me =8 037 | ®me | #8027 | |E | BB | 0.51
4 | me B 037 | me | B8 027 | mE | B8 | 0.59
|5 | ®m& =8 038 | W& | =89 | 0.36 | BE | EB | 0.59
6 | me B8 038 | mE B8 0.36 | mE | B | 0.49
| 7 | ®me =8 033 | ®mE& | =89 0.33 | \E | & | 049
8 | me &8 | 033 | m& | B8 | 0.33 | ®E | B8 | 0.51
| o | m& =8 | 036 | ®E | B89 | 0.39 | | | BB | 0.51
10 | e | B0 | 0.36 | M | BB | 0.39 | |®E | &M | 0.45
|11 | me | =89 | 038 | |2 | =89 | 0.33 | |E | EH | 045
12 | me | B0 | 0.38 | M | B0 | 0.33 | @& | &M | 0.50
|13 | ®me | =8 | 035 | | | =89 | 0.28 | & | EB | 0.50
14 | me | B0 0.35 | mE | B0 | 0.28 | m& | &I | 0.43
|15 | ®& | =89 | 036 | W | B89 | 0.35 | | | BH | 0.43
16 | e | B0 | 0.36 | M | B0 | 0.35 | mE | &M | 0.43
|17 | ®& | =88 | 039 | @ | 89 | 0.30 | |E | BH | 0.43
18 | e | B | 0.39 | M | B0 | 0.30 | @& | &I | 0.49
|19 | ®me | =88 039 | ®E | =89 | 0.28 | BE | EH | 0.49
20 | me | &8 | 0.39 | me | B | 0.28 | e | B8 | 0.42
21 | ®me | #8035 | ®E | =89 | 0.24 | |E | BB | 042
2 | me | &) | 0.35 | me | B8R | 0.24 | mEe | B8 0.51
23 | m& | =89 | 033 | ®mee | B89 | 047 | |E | BB | 0.51
24 | me | ®A | 0.33 | M | B | 0.47 | W | B 0.35
|25 | me | #8035 | || =8 | 0.39 | |E | EH | 0.35
26 | me | B8R | 0.35 | me | B | 0.39 | mEe | B8 | 0.37
27 | e | =88 | 055 | ®E | =8 | 041 | |E | EH | 037
28 | me | B8 | 0.55 | Mme | B | 0.41 | e B8 | 0.32
|20 | me2 | =89 | 038 | B | =8 | 0.44 | |E | EH | 0.32
30 | me | B8R | 0.38 | mE | B | 0.44 | mE | B8 | 0.39
31 | mE B 0.44
BA] 0.55 0.47 0.59
=1 0.33 0.24 0.32
| & oo PEER
(mg/L)

1 0.39
BA] 0.59
) 0.24




SH7¥6E SHRBEDER p- 333

Bkt R

Bok3ge: =M AUKHESR:  AEEFKIS WIBFE: 2R3B KR ¢ AEEKIR

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
E| =) (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.32 | | | &9A | 0.36 | M | 08 | 0.34
2 |me B8 032 | me | B8 036 | ®mE | B | 0.35
| 3 | ®me =8 030 | ®mE | =89 | 0.28 | \E | EH | 0.35
4 | me B 030 | me | B8 0.28 | mE | B | 0.34
|5 | ®me =8 030 | ®E | =8| 0.24 | |\E | EH | 0.34
6 | me | B8 | 030 | me | B | 0.24 | mE | B 0.43
| 7 | ®m& =8 030 | ®e | B89 | 0.30 | | | BHA | 0.43
8 | me &8 | 030 | ®m& | B8 | 0.30 | ®|E | B | 0.45
| o | ®me =8 031 | ®mE& | =89 039 | |E | & | 045
10 | e | B0 | 0.31 | e | B0 | 0.39 | m& | &M | 0.43
|11 | ®e | =89 | 030 | | | B89 | 0.29 | | | BHA | 0.43
12 | e | B0 0.30 | me | B0 | 0.29 | mE& | &I | 0.43
|13 | ®e | =8 | 0.27 | ®e | B89 | 0.30 | | | BH | 0.43
14 | me | B0 0.27 | me | B0 | 0.30 | |®E | B0 | 0.36
|15 | ®& | =88 | 030 | ®E | =89 | 0.28 | |BE | EH | 0.36
16 | e | #0A | 0.30 | M | B0 | 0.28 | @& | BB | 0.40
|17 | e | =8 030 | ®E | =89 | 0.29 | |E | EH | 0.40
18 | e | BB | 0.30 | | | B0 | 0.29 | mE | &M | 0.35
|19 | ®m& | =88 | 0.28 | W | =8 | 0.40 | |E | EH | 0.35
20 | me | B8 | 0.28 | e | EFA | 0.40 | e | BB | 0.36
21 | me | =89 030 | ®E | =89 | 0.21 | |BE | BB | 0.36
22 | me | &) | 0.30 | me | B8R | 0.21 | Mme | BB 0.35
23 | me | =89 031 | ®E | =89 | 0.23 | |E | EH | 0.35
24 | me | B8R | 031 | Mme | B8 | 023 | mEe | B8 | 0.32
|25 | me | =89 | 0.30 | ®E | =89 | 0.30 | |E | EH | 0.32
26 | me | #8A | 0.30 | e | B | 0.30 | e | B8 | 0.29
27 | e | =89 | 035 | ®E | =89 | 0.34 | |E | EH | 0.29
28 | me | B8R | 0.35 | e | B | 0.34 | M B8 | 0.26
|20 | m& | ®88 | 0.35 | ®E | =89 | 0.34 | |E | EH | 0.26
30 | me | B8R | 0.35 | MmEe | B | 0.34 | e B8 | 0.32
31 | me B 034 |~~~
7 T m — w [ — — — — —
Bx. . . .
=1 0.27 0.21 0.26
| & oo PEER
(mg/L)

1 0.32
BA] 0.45
/) 0.21




SH7¥6E SHRBEDER p- 334

okt S

BikZ5E: SHEKR KRR RS 2 JKIEFKIG IBFE: 2R3B KR . [HEE22KERE

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.49 | W | B9A | 0.35 | M | 388 0.43
2 | me | #8| | 049 | e | B8 | 035 | e E8H | 0.48
|3 | ®me =8 048 | ®mE | =8| 047 | BE | EH | 048
4 | me B 048 | me | B8 047 | mE | B | 0.44
|5 | me& & 049 | ®& | B8 | 052 | ®& | B | 0.44
6 | me | B8 | 049 | me | B4 | 052 | mE | B 0.43
| 7 | & =8 048 | ®mE | B89 | 044 | |E | BH | 043
8 | me B8 | 048 | mE | B | 044 | ®mE | B | 0.43
| o | ®me =8 | 047 | ®mE& | B89 | 048 | |E | BH | 0.43
10 | & | B0 | 0.47 | M| | B0 | 0.48 | |mE | &M | 0.42
|11 | me | =8 | 047 | ®E | =89 | 046 | BE | B | 042
12 | me | B0 | 047 | |mE | B0 | 046 | |mE | B | 0.45
|13 | ®me | =89 | 045 | B | =8 | 0.46 | |E | BB | 045
14 | meE | B0 | 0.45 | MmE | B0 | 0.46 | WmE | BH | 0.42
|15 | ®me | =8 | 047 | ®E | =89 | 045 | |E | & | 042
16 | & | B0 | 0.47 | e | B0 | 0.45 | |mE | &M | 0.36
|17 | e | =8 | 048 | | | =89 | 042 | |E | EH | 0.36
18 | e | #BA | 0.48 | M | B0A | 0.42 | |®E | BH | 0.39
|19 | ®& | =89 | 046 | ®E | =89 | 040 | |E | EH | 0.39
20 | me | B8R | 0.46 | e | B | 0.40 | e | B8A | 0.38
21 | me | =89 | 046 | ®E2 | =8 | 042 | |E | EH | 0.38
2 | me | B | 046 | mE | B | 042 | mE | EA | 031
23 | ®& | =89 | 045 | ®mEe | B89 | 048 | |E | BH | 0.31
24 | me | BA | 0.45 | MmE | B | 048 | mE | B | 0.34
|25 | me | #8047 | B | 8 | 044 | BE | EH | 0.34
26 | me | B8R | 0.47 | mE | B | 0.44 | e B8 | 0.37
27 | e | =88 | 041 | ®mE | =8 | 045 | |E | & | 037
28 | me | B | 0.41 | MmE | B | 045 | MmE | B8 | 0.34
|20 | m&2 | =89 | 046 | B | =8 | 043 | |E | BB | 0.34
30 | me | B8R | 0.46 | mE | B | 043 | mE | B | 0.42
31 | me B 043 |~~~
o nbonbontb o B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.41 0.35 0.31
| & oo PEER
(mg/L)

1 0.44
BA] 0.52
) 0.31




SH7¥6E SHRBEDER p- 335

Wkt SH

BikZ5E: SHEKR KRR RS 2 JKIEFKIG IBFE: 2R3B KR . [HEE22KERE

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.48 | MW | B9A | 0.52 | MW | B8 | 0.47
2 | me | #8M | 048 | e | B8 | 052 | e | BB 0.45
| 3 | ®me =8 049 | ®mE | =89 | 045 | |E | BB | 045
4 | me B 049 | me | B 045 | |E | B8 | 0.43
|5 | ®me =8 042 | ®mE | B89 | 046 | |E | BH | 043
6 | me | B8H | 042 | mE | B | 046 | MmE | B | 0.45
| 7 | me& =8 050 | ®E | =8 | 0.46 | BE | BB | 045
8 | me | & | 050 | e | B8 | 0.46 | e BBH | 0.46
| o | me =8 | 046 | ®E | =89 | 046 | |E | EH | 0.46
10 | e | B0A | 0.46 | M | BB | 0.46 | W& &M | 0.45
|11 | ®e | =89 | 0.50 | | | 8 | 0.44 | |E | BB | 045
12 | e | B0 | 0.50 | M | B0 | 0.44 | | | BB | 0.38
|13 | ®me | =8 | 047 | ®mE | =89 | 045 | |E | EH | 0.38
14 | me | B0 047 | |mE | B0 | 045 | @& BB | 045
|15 | ®me | =89 | 048 | | | =8 | 045 | |E | BB | 045
16 | & | B0 | 0.48 | M | B0 | 0.45 | mE | BH | 0.42
|17 | e | =8 | 047 | ®BE | =89 | 042 | BE | & | 042
18 | me | B0 | 0.47 | |mE | B0 | 0.42 | |®E | B | 0.47
|10 | me | =8 | 048 | ®E | =8 | 042 | |E | BB | 047
20 | me | B8 | 0.48 | mE | BB | 0.42 | mE | B 0.41
21 | me | =8 | 047 | B | B89 | 041 | |E | BH | 0.41
2 | me | B0 | 047 | mE | BEH | 041 | mE | EH | 041
23 | me | =8 | 047 | B | B89 | 045 | |E | BH | 0.41
24 | me | BmA | 0.47 | M | B | 0.45 | WM | B | 0.45
|25 | me | #8047 | B | 8 | 045 | |E | BB | 045
26 | me | B | 0.47 | WM | BB | 0.45 | mE | B | 043
27 | ®& | =88 | 049 | ®mEe | B89 | 045 | |E | BH | 0.43
28 | me | B | 0.49 | WM | BB | 0.45 | WM | B 0.43
|20 | ®& | =89 | 0.46 | ®mEe | B89 | 0.47 | |E | BH | 0.43
30 | me | B8R | 0.46 | MmE | B | 047 | e B | 047
31 | e By 047 |~~~
o n ot one o B2 B2 B2 B2 B2 B2 B2 =2
Bx. . . .
=1 0.42 0.41 0.38
| & oo PEER
(mg/L)

1 0.45
BA] 0.52
/) 0.38




SH7¥6E SHRBEDER p- 336

oKt R

BikZ5E: SHEKR KRR RS 2 JKIEFKIG IBFE: 2R3B KR . [HEE22KERE

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.40 | M| | &9A | 0.3/ | Me | 388 | 0.38
2 | me B8 040 | me | B8 037 | ®mE | B | 035
|3 | ®me =8 042 | ®mE | =8| 036 | |E | EH | 0.35
4 | me | B8R 042 | me | B 036 | mE | B | 0.38
|5 | ®m& =8 040 | ®mE | =89 | 0.38 | BE | EH | 0.38
6 | me B8 040 | mE B8 0.38 | |mE | B8 | 0.37
| 7 | me =8 | 044 | ®mE | =89 | 0.36 | |E | & | 037
8 | me | & | 044 | e | B8 | 0.36 | e BBA | 0.34
| o | me =8 | 044 | mE | =89 033 | BE | & | 0.34
10 | & | B0 | 0.44 | e | B0 | 0.33 | @& | &M | 0.37
|11 | me | =8 | 041 | ®mE | =89 | 042 | |E | BB | 037
12| me | B0 041 | e | B0 | 042 | |®E | BB | 0.38
|13 | ®me | =89 | 040 | ®E | =89 | 040 | |E | EH | 0.38
14 | me | B0A | 0.40 | e | BB | 0.40 | |®E | BH | 0.35
|15 | ®me | =8 | 045 | | | =8 | 042 | |E | EH | 0.35
16 | e | B0 | 0.45 | e | B0 | 0.42 | |mE | B | 0.27
|17 | e | =8 | 044 | ®mE | =89 | 0.23 | |E& | & | 0.27
18 | e | BB | 0.44 | e | BB | 0.23 | m& | &M | 0.33
|19 | me | =8 | 042 | ®mee | B89 | 042 | |E | BB | 0.33
20 | me | B8R | 0.42 | mE | BB | 0.42 | mE | EBA | 031
21 | m& | =89 | 043 | ®mee | B89 | 0.36 | | | BHA | 0.31
2 | me | B | 043 | me | B | 036 | MmE | B | 0.34
23 | me | #8043 | ®E | =89 | 040 | |E | BB | 0.34
24 | me | B8R | 043 | mE | B8 | 040 | M | B8 | 0.28
|25 | me | =89 | 040 | B2 | 89 | 0.36 | |BE | EB | 0.28
26 | me | B8R | 0.40 | e | B | 0.36 | MmE | B8 | 0.27
27 | e | =89 | 040 | B2 | =89 | 0.36 | |E | EH | 0.27
28 | me | B8 | 0.40 | e | B | 0.36 | MmE | B8 | 0.27
|20 | ®& | =88 | 030 | ®E | =89 | 0.38 | |®E | EH | 0.27
30 | me | B8 | 0.30 | me | B | 0.38 | mE | B8 | 0.26
31 | mE B 0.38
BA] 0.45 0.42 0.38
=1 0.30 0.23 0.26
| & oo PEER
(mg/L)

1 0.37
BA] 0.45
) 0.23




SH7¥6E SHRBEDER p. 337

kiR B

BokK3ge:  FEEKR KRR SEERFUKIE IBFE: 2R3B KR . FEEREIKERE

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.48 | MW | B9A | 0.60 | M | B8 | 0.42
2 | me | &8 048 | e | B8 | 0.60 | MEE | BBH | 0.44
|3 | me @ 043 | ®E | B | 044 | BE | B | 0.44
4 | me B 043 | mEe | B 044 | |E | B | 043
|5 | me& & 036 | M | B 0.60 | ®E& | B0 | 0.43
6 | me B8 036 | mE | B8 0.60 | |mE | B | 0.44
| 7 | me | &8 043 |\ | B | 047 | B& | B | 0.44
8 | me | & | 043 | mE | B8 | 047 | M B0 | 0.46
| o | me& | &8 048 | ®mE | B8 | 0.39 | ®E& | B | 0.46
10 | e | B0 | 0.48 | | | BB | 0.39 | ®E | &M | 0.41
|11 | me | =8 | 042 | ®me | B89 | 042 | |E | BH | 0.41
12| me | B0 042 | |mE | B0 | 042 | ®E | B | 0.44
|13 | me& | &8 049 | ®& | B8 | 045 | ®E& | B8 | 0.44
14 | e | B0A | 0.49 | e | B0 | 0.45 | @& | BB | 0.40
|15 | me& | &8 | 0.50 | ®& | B8 | 044 | & | B0 | 0.40
16 | e | 0 | 0.50 | M | B0 | 0.44 | |mE | &M | 0.37
|17 | e | =8 | 044 | ®mE | =89 | 0.22 | & | & | 037
18 | e | BB | 0.44 | e | B0 | 0.22 | |®E | B | 0.34
|19 | me& | &8 041 | ®& | B8 | 0.38 | ®& | B0 | 0.34
20 | me | B8R | 0.41 | MmE | EFA | 0.38 | e | B8 | 0.37
21 | me | @B 042 | ®E | B8 | 045 | ®E& | B | 0.37
2 | me | B 042 | me | EA | 045 | mE | B | 0.27
|23 | me | &8 047 | ®E | B8 | 0.28 | ®E& | B | 0.27
24 | me | B | 0.47 | mE | B8R | 0.28 | mE | B 0.41
|25 | me2 | @B 049 | ®E | B 044 | ®E | B0 | 0.41
26 | me | B8R | 0.49 | e | B | 0.44 | M B8 | 0.37
27 | e | =88 | 045 | ®E | =8 | 041 | |E | EH | 037
28 | me | B | 0.45 | mE | B | 0.41 | e B8 | 0.37
|20 | me&2 | @88 0.51 | |®E | B8 | 042 | ®E& | B | 0.37
30 | me | B8R | 0.51 | e | B | 042 | e B8 | 0.39
31 | e By 042 |~~~
o nbonbontb o B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.36 0.22 0.27
| & oo PEER
(mg/L)

1 0.42
BA] 0.60
) 0.22




SH7¥6E SHRBEDER p- 338

ok, S

BUKSH:  BIIEKR BoKKESR:  B)IKS WIBFSE: 2E3B KR BIR

SH7E SHBE
ES 45 58 68 78 88 EE] 108 118 128 18 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | |®E& | B8 | 0.30 | ®& | &9 | 0.37 | |\ | B89 | 0.63
2 |me& &\ | 031 | mE | B8 | 038 | &  EB | 0.63
| 3 | ®m& =8 031 | ®me | B89 | 0.38 | |E | BH | 0.63
4 | me &I 033 | ®E | BB 044 | |E | H0A | 0.63
|5 | ®me =8 033 | ®E | =8| 044 | BE | EH | 0.34
6 | me B | 0.34 | mE | B8R | 031 | |E | BB 0.34
| 7 | me =8 034 | ®mE& | =89 031 | |E | BB | 0.56
8 | me &8 036 | |2 #6044 | |E | EH | 0.56
| o | me =8 | 036 | ®E | =89 | 044 | BE | BB | 0.62
10 | ®e | B89 | 0.36 | | | H0A | 043 | BE | &M | 0.62
|11 | ®me | =89 | 036 | ®E | =89 | 043 | |E | EH | 0.52
12| ®me | B8 | 0.36 | | | B0 | 0.44 | |E | &M | 0.52
|13 | ®me | =89 | 036 | B | =8 | 044 | |E | BB | 047
14 | ®me | B8 | 0.34 | |E | B0 | 043 | BE | B | 0.47
|15 | ®& | =8 | 034 | | | B89 | 043 | |E | BB | 0.51
16 | ®e | B89 | 0.31 | | | B0 | 0.45 | |E& | &H | 0.51
|17 | e | =8 | 031 | | | =89 | 045 | |E | & | 0.39
18 | mea | B8 | 0.34 | | | HOA | 0.35 | |E | & | 0.39
|19 | ®& | =88 | 034 | ®mee | B89 | 0.35 | |E | BB | 0.51
20 | e | &BA | 040 | ®E | B89 | 038 | | | B8 | 0.51
21 | ®& | =89 | 040 | ®mEe | B89 | 0.38 | | | BHA | 0.61
22 | |®e | &8 | 041 | ®E | B8 | 031 | BE | B8 | 0.61
23 | ®m& | =8 | 041 | ®mee | B89 | 0.31 | |E | BH | 0.61
24 | |®mE | &I | 042 | e | B8 | 044 | BE | B8 | 0.61
|25 | me | =89 | 042 | ®mEe | B89 | 044 | |E | BB | 0.51
26 | |\ | &0 | 034 | ®E | B8 | 049 | BE | B8 | 0.51
27 | e | =89 | 034 | ®E | =89 | 049 | |E | BB | 0.59
28 | |\ | &B | 0.36 | |®E | B | 0.44 | ®|E | F0H | 0.59
|20 | ®& | =88 | 036 | B | =8 | 0.44 | |E | EH | 0.57
30 | |\ | &8 | 037 | ®E | B8 | 046 | ®E | F6H | 0.57
31 | W|E | B | 0.46
A 0.42 0.49 0.63
=] 0.30 0.31 0.34
| & oo PEER
(mg/L)

i 0.43
B 0.63
/) 0.30




SH7¥6E SHRBEDER p- 339

Bokitheg: 8

BokFE: B FOKMESS:  B)IEKIS IFFSE: ER3E KR - BINE22KERE

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 |®me& | & 026 | BE | B | 027 | & | EH | 0.34
2 |me B8 032 | me B8 029 | |mE | B | 0.34
|3 | ®me =8 032 | ®mE | =8| 029 | ®E | EH | 0.34
4 | me B 029 | me B8 027 | mE | B8 | 0.34
|5 | ®me =8 029 | ®mE | =89 027 | \|E& | EH | 0.35
6 | me B8 | 030 | ®mE& | B8 | 0.25 | ®mE | B8 | 0.35
| 7 | me& =8 030 | ®E | =89 | 0.25 | |E | EH | 0.35
8 | me B8 | 024 | me& | B8 | 023 | ®|E | M | 035
| o | me =8 | 024 | ®mE | =89 | 0.23 | |E | EH | 0.25
10 | e | B0 | 0.34 | |me | B0 | 0.27 | ®& | &)\ | 0.25
|11 | me | =88 | 034 | ®mE | =89 | 0.27 | ®E& | &8 | 0.27
12 | e | B0 | 0.25 | M | 30 | 0.30 | |®E | &I | 0.27
|13 | ®me | =8 | 025 | ®E& | =89 | 0.30 | |E | EH | 0.30
14 | me | B0 0.27 | me | B0 | 0.31 | |®E | B | 0.30
|15 | ®me | =8 | 0.27 | ®E | =89 | 0.31 | |E& | & | 0.32
16 | & | #0A | 0.30 | e | B0 | 0.32 | |®e | B8 | 0.32
|17 | & | =88 | 030 | ®mee | B89 | 0.32 | | | BHA | 0.33
18 | me | B8 | 0.27 | |me | B0 | 0.32 | m& | &) | 0.33
|10 | me | =8 027 | ®E | =8| 0.32 | |E | EH | 0.34
20 | me | B8 | 0.25 | e | B | 0.30 | e | B8 | 0.34
21 | me | #8025 | ®E& | =89 | 0.30 | |E | EH | 0.35
22 | me | &) | 0.30 | me | B8R | 0.31 | Mme | BB 0.35
23 | ®me | =89 030 | ®E | =8 | 0.31 | |E | EH | 0.35
24 | me | B | 0.24 | mE | B8R | 0.31 | | | BB 0.35
|25 | me | #8024 | ®E | =8 | 0.31 | |E | EH | 0.34
26 | me | B8R | 0.20 | e | B | 0.30 | e | B8 | 0.34
27 | e | =88 | 0.20 | ®E | 89 | 0.30 | |®E | EB | 0.35
28 | me | @A | 0.32 | me | B8 | 0.31 | M| | BB 0.35
|20 | me2 | =88 | 032 | ®E | =89 | 0.31 | |E | EH | 0.35
30 | me | @A | 0.27 | me | B8 | 033 | me | BB 0.35
31 | mE | B | 0.33
A 0.34 0.33 0.35
=1 0.20 0.23 0.25
| & oo PEER
(mg/L)

1 0.30
BA] 0.35
/) 0.20




SH7¥6E SHRBEDER p. 340

BOKiER: B

i\ ETH fAetl KBS : AEtFKIG WIBFE: 2R3B KR HEYDIKIE

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.28 | M| | &9 | 0.25 | M | B8 | 0.35
2 |me B8 027 | me | B8 022 | ®mE | B | 035
|3 | ®mee =8 027 | ®mE | =8| 022 | ®E | & | 0.27
4 | me B 029 | me | B8 0.26 | |mE | B8 | 0.27
|5 | ®me =8 029 | ®mE | =89 | 0.26 | ®E | EB | 0.38
6 | me B8 032 | mE& B8 029 | |mEe | B8 | 0.38
| 7 | me =8 032 | ®mE | =8| 029 | ®\E | & | 0.22
8 | me B8 027 | mE& B8 033 | |\mE | B | 0.22
| o | e =8 | 027 | ®mE& | =89 033 | & | EH | 0.35
10 | e | BB | 0.25 | e | B0 | 0.33 | ®& | &M | 0.35
|11 | me | =88 | 025 | | | =89 | 0.33 | |E | EH | 045
12 | me | B 0.27 | |me | B0 | 032 | mE | &)\ | 045
|13 | e | =8 | 027 | ®E& | =89 | 0.32 | |E& | EH | 0.55
14 | me | B0 | 0.25 | me | B0 | 0.33 | ®& | &I | 0.55
|15 | ®& | =88 | 0.25 | @ | B89 | 0.33 | |E | BH | 0.43
16 | e | #0A | 0.27 | me | B0 | 0.33 | mE | &)\ | 043
|17 | e | =8 | 027 | ®me | B89 | 0.33 | |E | BH | 0.33
18 | e | BB | 0.30 | e | B0 | 0.36 | @& &M | 0.33
|10 | ®m& | =88 030 | ®E | =89 | 0.36 | |E | EB | 0.35
20 | me | B8 | 0.25 | me | B8 | 0.35 | Mme | BB 0.35
21 | me | #8025 | W | =8 | 0.35 | |E | EH | 0.35
2 | me | &) | 0.28 | mE | B8 | 0.31 | MmEe | BB 0.35
23 | me | =89 | 0.28 | ®E | =8 | 0.31 | |\|E | E=H | 0.34
24 | me | B8R | 037 | me | B8 | 021 | e B8 | 0.34
|25 | me | #8037 | ®E | =8| 0.21 | |BE | EH | 0.34
26 | me | B8R | 037 | me | B8 | 021 | e B8 | 0.34
27 | me | =88 | 037 | ®E | =89 | 0.21 | |BE | EH | 0.34
28 | me | B8R | 0.27 | me | B | 033 | e B8 | 0.34
|20 | ®e | =88 | 0.27 | ®E | =89 | 0.33 | |E | EH | 0.35
30 | me | &8 | 0.25 | me | B8 | 0.30 | MmE | BB 0.35
31 | mE B8 0.30
A 0.37 0.36 0.55
=1 0.25 0.21 0.22
| & oo PEER
(mg/L)

1 0.31
BA] 0.55
/) 0.21




SH7¥6E SHRBEDER p- 341

kit HA

Bok3gE:  AFAZITARE FoKMESS:  RANEKH NiBFE: 1ERES KB - AZKER

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®E& | &9 | 0.30 | M| | B9A | 0.25 | MW | B8 | 0.25
2 |me B8 027 | me | B8 025 | ®mE | B | 0.25
|3 | ®me =8 027 | ®mE | =8| 025 | \E | & | 0.26
4 | me B 027 | ®me B8 0.25 | |mE | B8 | 0.26
|5 | ®me =8 027 | ®mE | =8| 025 | \E | & | 0.26
6 | me B8 027 | ®mE& B8 0.30 | |E | B | 0.26
| 7 | me =8 027 | ®mE& | =89 0.30 | |E | & | 0.25
8 | me &8 | 0.28 | me& | B8 | 0.27 | ®|E | BH | 0.25
| o | e =8 028 | ®mE | =8| 0.27 | ®E | EH | 0.26
10 | e | #0A | 0.28 | M | H0A | 0.27 | |®E | &M | 0.26
|11 | me | =88 | 0.28 | | | =89 | 0.27 | |E | EH | 0.25
12 | me | B8 | 0.25 | me | B0 | 0.30 | ®E | &)\ | 0.25
|13 | ®me | =8 | 025 | ®E& | =89 | 0.30 | |E | EH | 0.26
14 | me | B0A | 0.27 | me | B0 | 0.31 | ®E | B\ | 0.26
|15 | ®me | =8 | 0.27 | ®E& | =89 | 0.31 | |E& | EH | 0.25
16 | e | B0 | 0.30 | mE | B0 | 0.31 | ®E& | &M | 0.25
|17 | e | =8 | 030 | ®E | =89 | 0.31 | |E | & | 0.27
18 | e | B | 0.30 | M | B0 | 0.30 | |®E | BH | 0.27
|10 | ®& | =88 030 | ®E | =89 | 0.30 | |E | EH | 0.24
20 | me | &8 | 0.28 | e | EEA | 0.30 | e | EEA | 0.24
21 | me | =89 | 0.28 | ®E | =8 | 0.30 | |E | EH | 0.25
2 | me | &) 027 | me | BB | 029 | me | E| | 0.25
23 | me | =8 | 0.27 | ®E | =89 | 029 | \|E | EB | 0.29
24 | me | B8R | 0.27 | me | B8 | 023 | e | B8 | 0.29
|25 | me | =88 | 0.27 | ®E | =89 | 0.23 | |E | & | 0.26
26 | me | B8R | 0.25 | Mme | B | 0.26 | MmE | B8 | 0.26
27 | e | =88 | 0.25 | ®E | =8 | 0.26 | |®E | EB | 0.30
28 | me | B8 | 0.30 | e | B | 0.24 | M | B8 | 0.30
|20 | m& | =88 | 030 | ®E | =8 | 0.24 | |E | EH | 0.28
30 | me | B8R | 0.25 | me | B | 0.23 | e | B8 | 0.28
31 | me | B | 0.23
BA] 0.30 0.31 0.30
=1 0.25 0.23 0.24
| & oo PEER
(mg/L)

1 0.27
BA] 0.31
) 0.23




SH7¥6E SHRBEDER p. 342

ok &

[ T | = vaTr:i] KRR fEFUKIE WIBFE:. ERES KR - JIIEELUKERE

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.25 | W | &9 | 0.25 | M| | B8 | 0.25
2 | me B8 025 | me | B8 0.25 | ®mE | B8 | 0.25
| 3 | ®me =8 025 | W& | =89 0.20 | \E | EB | 0.25
4 | me B 0.25 | me | B 0.20 | |E | B8 | 0.25
|5 | ®m& =8 020 | ®E | =8| 0.25 | |E | EB | 0.25
6 | me B8 0.25 | mE B8 0.25 | | | B8 | 0.20
| 7 | me =8 025 | ®E | =89 | 0.25 | |E | EH | 0.25
8 | me B8 | 025 | m& | B8 | 0.25 | ®|E | B | 0.25
| o | e =8 | 025 | ®E | =89 | 0.25 | |E | EB | 0.25
10 | e | B0 | 0.25 | & | B0 | 0.25 | mE | & | 0.25
|11 | ®me | =8 | 025 | ®E | =89 | 0.25 | |E& | EH | 0.25
12 | e | B0 | 0.25 | e | B0 | 0.25 | @& | &8 | 0.20
|13 | ®me | =8 | 0.20 | ®E | =89 | 0.25 | |E | EB | 0.25
14 | me | B0 0.25 | me | B0 | 0.25 | mE | &)\ | 0.25
|15 | ®e | =88 | 0.25 | ®E | =89 | 0.25 | |\E | EB | 0.25
16 | e | B0 | 0.25 | |mE | B0 | 0.25 | ®E | &)\ | 0.25
|17 | e | =8 | 025 | ®E | =89 | 0.25 | |\E | EB | 0.25
18 | e | B | 0.25 | M | B0 | 0.25 | @& | BB | 0.20
|10 | ®me | =88 | 025 | ®E | =8 | 0.25 | |E | EB | 0.20
20 | me | @m0 | 0.25 | Mme | B8 | 0.20 | MmE | BB 0.25
21 | ®me | =89 0.20 | ®E | =8 | 0.20 | |BE | EB | 0.25
2 | me | B8R | 0.25 | Mme | B8 | 0.25 | M | B8 | 0.20
23 | me | =89 | 0.20 | ®E | =8 | 0.25 | |BE | BB | 0.25
24 | me | ®A | 0.25 | me | B8R | 0.25 | | | BB 0.25
|25 | m& | =89 | 0.20 | ®E | =8 | 0.25 | |E | EB | 0.25
26 | me | B8R | 0.25 | me | B | 0.25 | e | B8 | 0.20
27 | e | =88 | 0.25 | ®E | =8 | 0.25 | |®E | EB | 0.25
28 | me | B8 | 0.25 | e | B | 0.25 | e | B8 | 0.20
|20 | m& | =88 | 0.25 | ®E | =89 | 0.20 | |E | EBY | 0.25
30 | me | &R | 0.25 | me | BB | 0.25 | MmEe | BB 0.25
31 | me B 02 |~~~
o nbonb—oatb o B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.24
BA] 0.25
/) 0.20




SH7¥6E SHRBEDER p- 343

Bkt %48

i\ ETH ER - 345 - (EARAE KNGS : EME XS/ NigFE: 1ERES KR 1 EEE3. KR

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.25 | W | &9 | 0.25 | M| | B8 | 0.25
2 | me B8 030 | me | B8 0.25 | ®mE | B8 | 0.25
| 3 | ®me =8 030 | ®E | =89 0.25 | |E | EH | 0.25
4 | me B 030 | me | B 0.20 | |E | B8 | 0.25
|5 | ®m& =8 030 | ®E | =89 | 0.25 | |E | & | 0.20
6 | me B8 | 0.25 | mE& | B8 | 0.25 | ®|E | B8 | 0.25
| 7 | me& =8 020 | ®E | =8| 0.25 | \E | EH | 0.25
8 | me &8 | 0.25 | me& | B8 | 0.30 | ®E | &M | 0.25
| o | ®me =8 030 | ®E | =89 | 0.25 | |E& | EH | 0.30
10 | e | 0 | 0.30 | M | B0 | 0.20 | W& | BB | 0.30
|11 | me | =89 | 030 | ®E | =89 | 0.25 | |E | EH | 0.25
12 | e | B0 0.30 | mE | B0 | 0.25 | mEe | &)\ | 0.25
|13 | ®me | =89 | 030 | ®E | =89 | 0.25 | |E | EH | 0.25
14 | me | B0 0.35 | MmE | B0 | 0.20 | ®E | & | 0.25
|15 | ®& | =88 | 030 | ®E | =8 | 0.25 | |E | EB | 0.25
16 | e | B0 | 0.25 | |mE | B0 | 0.25 | ®E | &)\ | 0.25
|17 | & | =8 | 030 | ®E | =89 | 0.25 | |\E& | EH | 0.20
18 | e | BB | 0.20 | | | BB | 0.25 | |®E | &M | 0.25
|10 | ®m& | =88 030 | ®E | =8 | 0.25 | |E | EH | 0.25
20 | me | B8 | 0.30 | Mme | BB | 0.25 | Mme | BB 0.25
21 | me | =89 030 | ®E | =8 | 0.25 | |E | EB | 0.25
22 | me | &) | 0.30 | me | B8R | 0.25 | Mme | BB 0.25
23 | me | =88 030 | ®E | =8 | 0.25 | |E | EB | 0.25
24 | me | B | 0.30 | M | B8R | 0.25 | | | BB 0.25
|25 | me | =89 | 0.30 | ®E | =8 | 0.25 | |E | EB | 0.20
26 | me | B8R | 0.25 | Mme | B | 0.20 | e | B8 | 0.20
27 | e | =88 | 030 | ®E | =8 | 0.25 | |®E | EB | 0.25
28 | me | ®8A | 0.30 | e | B | 0.25 | e | B8 | 0.20
|20 | m& | =88 | 030 | ®E | =8 | 0.25 | |\E | EB | 0.20
30 | me | &8 | 0.30 | mE | BB | 0.25 | MmE | BB 0.25
31 | ®mE B 0.25
BA] 0.35 0.30 0.30
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.26
BA] 0.35
) 0.20




SH7¥6E SHRBEDER p- 344

Bkt B

i\ ETH W& KNGS : LIEHKIG IFFSE: ER3E KR - FEER. AR

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | M| | &9 | 0.20 | MW | B89 | 0.25
2 | me B8 020 | mE& B8 0.30 | |E | B8 | 0.20
| 3 | ®me =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
4 | me B 020 | me | B8 0.25 | |E | B8 | 0.20
|5 | ®me =8 020 | ®E | =89 | 0.20 | |\E | EB | 0.20
6 | me B8 0.20 | ®mE B8 0.20 | |E | B8 | 0.20
| 7 | me& =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.25
8 | me B8 0.20 | ®mE& B8 0.20 | |E | B8 | 0.20
| o | ®me =88 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
10 | e | 0 | 0.25 | M | B0 | 0.20 | @& | BB | 0.20
|11 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
12 | e | B0 0.30 | & | B0 | 0.25 | @& | B8 | 0.20
|13 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
14 | e | B0A | 0.20 | e | B0 | 0.30 | W& | BB | 0.20
|15 | ®& | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
16 | & | #0A | 0.20 | M | E0A | 0.25 | @& | BB | 0.20
|17 | e | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
18 | e | B | 0.20 | M | BA | 0.25 | @& | BB | 0.20
|19 | ®& | =88 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
20 | me | B8 | 0.20 | e | EEA | 0.20 | e | E8A | 0.20
21 | me | #8020 | ®E | =8 | 0.20 | |BE | EB | 0.20
22 | me | #8A | 0.20 | e | B | 0.20 | e | E8A | 0.20
23 | me | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
24 | me | B8R | 0.20 | e | 3B | 0.25 | e | B8 | 0.20
|25 | ®& | =89 | 0.20 | ®E | 8 | 0.20 | |E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | e | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
28 | me | B8 | 0.20 | e | B | 0.20 | e | E8A | 0.20
|20 | ®& | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
30 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
31 | me Bh 02 |~~~
7 I e e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.21
BA] 0.30
) 0.20




SH7¥6E SHRBEDER p. 345

skt

EookFse: @l AOKHESR:  RRKIE WIBFE: 2R3B KR HEI

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.25 | W | &9 | 0.25 | M| | 388 | 0.20
2 | me B8 025 | mE& B8 0.20 | |E | B8 | 0.20
| 3 | ®me =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
4 | me B 020 | ®me | B8 0.20 | |E | BEA | 0.25
|5 | ®me =8 020 | ®E | =89 | 0.20 | |\E | EB | 0.20
6 | me B8 0.20 | ®mE B8 0.20 | |E | B8 | 0.20
| 7 | me& =8 025 | ®E& | =89 | 0.20 | |®E | EB | 0.25
8 | me B8 0.20 | ®mE& B8 0.20 | |E | B8 | 0.20
| o | e =8 | 020 | ®E | =8| 0.25 | ®E | EB | 0.20
10 | e | 0 | 0.20 | ME: | BBA | 0.20 | W& | BB | 0.20
|11 | ®me | =8 | 0.20 | ®E | =89 | 0.30 | |E& | EH | 0.20
12 | e | B0 | 0.20 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
14 | e | B0A | 0.20 | e | B0 | 0.20 | W& BB | 0.20
|15 | ®e | =88 | 0.25 | ®E | =89 | 0.25 | |E | EH | 0.20
16 | & | B0 | 0.20 | & | BB | 0.20 | |®E | &M | 0.25
|17 | e | =8 | 0.20 | ®E | =89 | 0.25 | |E | EH | 0.20
18 | e | B | 0.25 | M | B0 | 0.20 | W& | BB | 0.20
|19 | ®me | =88 | 025 | ®E& | =89 | 0.20 | |E | EB | 0.20
20 | me | B8 | 0.30 | e | B | 0.20 | e | E8A | 0.20
21 | me | #8025 | ®E | =89 | 0.20 | |E | EH | 0.20
22 | me | #8A | 0.20 | e | B | 0.20 | e | E8A | 0.20
23 | me | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
24 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
|25 | me | =89 | 0.20 | ®E | =8 | 0.25 | |®E | EB | 0.20
26 | me | &R | 0.20 | WM | B8R | 0.20 | MmE | BB 0.25
27 | e | =88 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.30
28 | me | B8R | 0.25 | e | B | 0.20 | e | B8 | 0.20
|20 | ®& | =88 | 0.25 | ®E | 8 | 0.30 | |E | EH | 0.20
30 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
31 | me B 02 |~~~
7 L e e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.21
BA] 0.30
/) 0.20




SH7¥6E SHRBEDER p- 346

kiR FIE

BoK3E: I HUKHESS:  WREERKIE WIBFE: 2R3B KR . KRR

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | | | &9A | 0.25 | MW | B8 | 0.25
2 |me B8 020 | me | B8 0.25 | ®mE | B8 | 0.25
| 3 | ®me =8 025 | W& | =89 0.20 | \E | EB | 0.25
4 | me B 025 | me | B8 0.20 | |E | B8 | 0.20
|5 | ®m& =8 025 | ®E& | =89 0.20 | \E | EH | 0.20
6 | me B8 | 0.25 | ®mE& | B8 | 0.20 | ®|E | M | 0.25
| 7 | me& =8 025 | ®E& | =89 | 0.20 | |®E | EB | 0.25
8 | me B8 025 | mE& B8 0.20 | |E | B8 | 0.20
| o | ®me =8 | 025 | ®E | =89 | 0.20 | |E | EH | 0.20
10 | e | 0 | 0.25 | M | E0A | 0.20 | W& | BB | 0.30
|11 | me | =88 | 025 | ®E | =89 | 0.20 | & | EH | 0.30
12 | e | B0 | 0.25 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =8 | 025 | ®Ee | =89 | 0.25 | |E& | EH | 0.20
14 | me | B 0.20 | mE | B0 | 0.25 | ®E | &)\ | 0.25
|15 | ®& | =88 | 0.20 | ®E | =89 | 0.25 | |®E | EB | 0.25
16 | & | #0A | 0.20 | M | E0A | 0.25 | @& | BB | 0.20
|17 | e | =88 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
18 | e | BB | 0.20 | M | BB | 0.20 | |®E | &M | 0.25
|19 | ®& | =88 | 0.20 | ®E2 | =8 | 0.20 | |®E | EBY | 0.25
20 | me | B8 | 0.20 | MmE | B8 | 0.20 | e | BB 0.25
21 | ®me | =89 0.20 | ®E | =8 | 0.20 | |BE | EB | 0.25
2 | me | &) | 0.25 | me | B8R | 0.20 | Mme | BB 0.25
23 | me | #8025 | ®E | =89 | 0.20 | |E | EB | 0.25
24 | me | B8R | 0.25 | MW | 3B | 0.20 | e | B8 | 0.30
|25 | me | #8025 | ®E | 89 | 0.20 | |®E | EB | 0.30
26 | me | B8R | 0.25 | e | B | 0.20 | e | B8 | 0.30
27 | e | =88 | 0.20 | ®E | =89 | 0.25 | |®E | EB | 0.30
28 | me | B8 | 0.20 | e | B | 0.25 | e | B8 | 0.20
|20 | ®& | =88 | 0.20 | ®E | =89 | 0.25 | |®E | EB | 0.20
30 | me | B8R | 0.20 | e | B | 0.25 | e | B8A | 0.20
31 | me B 02 |~~~
7 I m e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.23
BA] 0.30
) 0.20




SH7¥6E SHRBEDER p. 347

kiR 1A

BoK3ge:  EA AOKHESR:  HHAFKIS WIBFE: 2R3B KR . AR

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 | ®& | &9 | 0.25 | M| | &9 | 0.30 | M | B8 | 0.25
2 |me B8 020 | me | B8 0.25 | ®mE | B8 | 0.25
| 3 | ®me =8 025 | ®E& | =89 0.30 | |E | & | 0.25
4 | me B 0.25 | me | B 0.30 | |E | B8 | 0.25
| 5 | ®me =8 025 | ®E | =89 | 0.25 | |E | EB | 0.25
6 | me B8 | 0.25 | mE& | B8 | 0.25 | ®|E | B8 | 0.25
| 7 | me =8 025 | ®E | =89 | 0.25 | |E | EH | 0.25
8 | me &8 | 0.25 | me& | B8 | 0.30 | ®E | &M | 0.25
| o | e =8 | 025 | W& | =89 | 0.30 | |E | EB | 0.25
10 | e | B0 | 0.25 | & | B0 | 0.25 | mE | & | 0.25
|11 | ®me | =8 | 025 | ®E | =89 | 0.25 | |E& | EH | 0.25
12 | me | B8 | 0.25 | |me | B0 | 0.25 | ®E | &)\ | 0.25
|13 | ®me | =8 | 025 | | | =89 | 0.25 | |E | EB | 0.25
14 | me | B0 0.25 | me | B0 | 0.25 | mE | &)\ | 0.25
|15 | ®e | =88 | 0.25 | ®E | =89 | 0.25 | |\E | EB | 0.25
16 | e | B0 | 0.25 | |®E | B0 | 0.20 | ®E | & | 0.25
|17 | e | =8 | 025 | ®E | =89 | 0.25 | |\E | EB | 0.25
18 | e | BB | 0.25 | M | B0 | 0.20 | |®E | &M | 0.25
|10 | ®m& | =88 030 | ®E | =8 | 0.25 | |E | EH | 0.25
20 | me | B8 | 0.30 | Mme | BB | 0.25 | Mme | BB 0.25
21 | me | =89 030 | ®E | =8 | 0.25 | |E | EB | 0.25
22 | me | &) | 0.30 | me | B8R | 0.25 | Mme | BB 0.25
23 | me | =88 030 | ®E | =8 | 0.25 | |E | EB | 0.25
24 | me | ®A | 0.25 | me | B8R | 0.25 | | | BB 0.25
|25 | me | =89 | 0.30 | ®E | =8 | 0.25 | |\E | EB | 0.25
26 | me | & | 0.30 | mE | B8R | 0.25 | MmE | BB 0.25
27 | e | =88 | 0.25 | ®E | =8 | 0.25 | |®E | EB | 0.25
28 | me | @A | 0.25 | me | B8 | 0.25 | Mme | BB 0.25
|20 | m& | =88 | 0.30 | ®E | =8 | 0.25 | |®E | EB | 0.25
30 | me | ®8A | 0.25 | e | B | 0.25 | e | B8 | 0.30
31 | me B 02 |~~~
7 TEL—m s e e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.20 0.25
| & oo PEER
(mg/L)

1 0.26
BA] 0.30
) 0.20




SH7¥6E SHRBEDER p- 348

oKt B

Bok3ge:  BRE KRR RREUKIE IFFSE: ER3E KR . BER

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &0 | 0.25 | | | &9 | 0.20 | M| | B8 | 0.25
2 | me B8 025 | me | B8 0.25 | ®mE | B8 | 0.25
| 3 | ®me =8 025 | W& | =89 0.20 | \E | EB | 0.25
4 | me B 025 | me | B8 0.20 | |E | B8 | 0.20
|5 | ®m& =8 025 | ®E& | =89 0.20 | \E | EH | 0.20
6 | me B8 0.25 | mE B8 0.25 | | | B8 | 0.20
| 7 | me& =8 020 | ®E | =8| 0.25 | |E | EH | 0.20
8 | me B8 | 025 | m& | B8 | 0.25 | ®|E | B | 0.25
| o | e =8 | 025 | ®E | =89 | 0.25 | |E | EB | 0.25
10 | e | B0 | 0.25 | M | B0 | 0.25 | @& | BB | 0.20
|11 | me | =8 | 025 | ®E | =89 | 0.25 | |E& | EH | 0.20
12 | e | B0 | 0.25 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
14 | e | B0A | 0.20 | e | B0 | 0.25 | @& | B | 0.20
|15 | ®& | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
16 | & | B0 | 0.20 | & | BB | 0.25 | ®E | & | 0.25
|17 | e | =8 | 025 | ®E | =89 | 0.25 | |\E | EB | 0.25
18 | e | BB | 0.25 | M | B0 | 0.20 | |®E | &M | 0.25
|19 | ®me | =88 | 025 | ®E | =8 | 0.25 | |®E | EB | 0.25
20 | me | B8 | 0.25 | e | B | 0.20 | e | E8A | 0.20
21 | me | #8025 | ®E | =89 | 0.20 | |BE | EB | 0.25
2 | me | &) | 0.25 | me | B8R | 0.20 | Mme | BB 0.25
23 | me | #8025 | ®E | =89 | 0.20 | |E | EB | 0.25
24 | me | B8R | 0.25 | Mme | B | 0.20 | e | B8 | 0.20
|25 | me | #8025 | ®E | =89 | 0.20 | |®E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | e | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
28 | me | B8R | 0.25 | e | B | 0.20 | e | B8 | 0.20
|20 | ®& | =88 | 0.25 | ®E | 89 | 0.20 | |E | EB | 0.20
30 | me | B8R | 0.25 | e | B | 0.25 | e | B8 | 0.20
31 | me B 02 |~~~
7 T e e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.23
BA] 0.25
) 0.20




SH7¥6E SHRBEDER p- 349

skt JILE

EokFsE: JIlE AFOKHESR: ) EFkis WIBFE: 2R3B KGR - Bl

SH7E SHBE
X 45 58 68 78 88 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
K e 1 BOL o BB el BB [ men]| B | EP [mon B maiL) B0 1 mart) B L may| © 82 | mon) B | (mar) B | (mar) B Ly | B [ B2 | e
1 | ®& | &9 | 0.20 | M| | &9 | 0.20 | MW | B89 | 0.25
2 | me B8 020 | ®me | B8 0.20 | ®E | BB | 0.25
| 3 | ®me =8 020 | ®E | =89 | 0.25 | |E | EH | 0.30
4 | me B 020 | me | B8 0.25 | |E | B8 | 0.30
|5 | ®m& =8 020 | ®E | =8| 0.25 | |E | EH | 0.40
6 | me B8 | 0.20 | ®mE& | B8 | 0.25 | ®|E | B | 0.25
| 7 | me =8 025 | ®E | =89 | 0.25 | |E | EH | 0.25
8 | me B8 | 025 | m& | B8 | 0.25 | ®|E | B | 0.25
| o | e =88 020 | ®E | =89 | 0.20 | |®E | EB | 0.25
10 | e | 0 | 0.25 | M | B0 | 0.20 | @& | BB | 0.20
|11 | ®e | =89 | 0.20 | ®E | =89 | 0.20 | |E | EBY | 0.25
12 | e | B0 0.20 | me | B0 | 0.25 | ®E | &) | 0.25
|13 | ®me | =89 | 0.20 | ®E | =8 | 0.25 | |E | EH | 0.20
14 | me | B0 0.30 | mE | B0 | 0.20 | ®E | & | 0.25
|15 | ®& | =88 | 035 | | | =89 | 0.20 | |®E | EH | 0.20
16 | e | B0 | 0.30 | & | B8 | 0.20 | |®E | &M | 0.25
|17 | e | =88 | 035 | ®E& | =89 | 0.20 | & | EB | 0.25
18 | e | B | 0.30 | M | B0 | 0.25 | @& | BB | 0.20
|10 | ®me | =88 | 025 | ®E | =8 | 0.25 | |E | EB | 0.20
20 | me | B8 | 0.30 | e | EEA | 0.25 | e | B8 | 0.20
21 | me | #8035 | ®E | =89 | 0.25 | |E | EH | 0.20
22 | me | &8 | 0.30 | e | B | 0.25 | e | B8 | 0.30
23 | me | #8035 | ®E | =89 | 0.25 | |E | EH | 0.35
24 | me | B8R | 0.30 | e | B | 0.25 | e | B8 | 0.30
|25 | me | =89 | 0.30 | ®E | =8 | 0.25 | |\E | EB | 0.35
26 | me | &R | 0.25 | me | B8R | 0.25 | M| | BB 0.25
27 | e | =88 | 0.25 | ®E | =8 | 0.25 | |®E | EB | 0.25
28 | me | @A | 0.25 | me | B8 | 0.25 | Mme | BB 0.25
|20 | m& | =88 | 0.25 | ®E | =89 | 0.20 | |E | EBY | 0.25
30 | me | B8R | 0.25 | e | B | 0.25 | e | B8 | 0.20
31 | me Bh 02 |~~~
7 TEL e e [ [ O o~ o~ o —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.25
BA] 0.40
) 0.20




SH7¥6E SHRBEDER p- 350

oKt KR

[ T V-1 HOKHESR: KIERKIS IFFSE: ER3E KR - HMMR

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | | | &9A | 0.25 | MW | B8 | 0.25
2 |me B8 020 | me | B8 0.25 | ®mE | B8 | 0.25
| 3 | ®me =8 020 | ®mE | =8| 0.25 | |E | EH | 0.20
4 | me B 020 | me | B8 0.20 | |E | EEA | 0.20
|5 | ®m& =8 020 | ®E | =8| 0.25 | |E | EB | 0.25
6 | me B8 | 0.20 | ®mE& | B8 | 0.25 | ®|E | B | 0.25
| 7 | me& =8 020 | ®E | =8| 0.25 | |E | EH | 0.20
8 | me 38 | 020 | ®me& | B8 | 0.25 | ®mE | B | 0.25
| o | e =8 | 0.20 | ®E | =8| 0.25 | |E | EB | 0.25
10 | e | B0 | 0.20 | M | BB | 0.20 | |®E | ®H | 0.25
|11 | ®me | =89 | 0.20 | ®E | =89 | 0.20 | |®E | EB | 0.20
12 | e | B0 | 0.20 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =8 | 0.20 | ®E | =89 | 0.25 | |E | EB | 0.25
14 | me | B 0.20 | mE | B0 | 0.25 | ®E | &)\ | 0.25
|15 | ®e | =88 | 0.20 | ®E | =89 | 0.25 | |E | EB | 0.20
16 | & | #0A | 0.20 | M | E0A | 0.25 | @& | BB | 0.20
|17 | e | =88 | 0.20 | ®E | =89 | 0.25 | |®E | EB | 0.25
18 | e | BB | 0.25 | | | B0 | 0.25 | ®E | &) | 0.25
|19 | ®& | =88 0.20 | ®E | =8 | 0.20 | |®E | EB | 0.20
20 | me | @m0 | 0.25 | Mme | B8 | 0.20 | MmE | BB 0.25
21 | me | #8025 | ®E | =89 | 0.20 | |BE | EB | 0.25
22 | me | &) | 0.20 | me | B8R | 0.20 | Mme | BB 0.25
23 | me | #8025 | ®E | =89 | 0.20 | |BE | EB | 0.20
24 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
|25 | ®& | =89 | 0.20 | ®E | 8 | 0.20 | |E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | e | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EBY | 0.25
28 | me | B8 | 0.20 | e | B | 0.25 | e | B8 | 0.20
|20 | ®& | =88 | 0.25 | ®E | 89 | 0.20 | |E | EB | 0.20
30 | me | &R | 0.25 | me | BB | 0.25 | MmEe | BB 0.25
31 | me Bh 02 |~~~
7 I e e [ [ O o~ o~ o
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.22
BA] 0.25
) 0.20




SH7¥6E SHRBEDER p- 351

okt 5

i\ ETH BFH KBS : BFEFKIZ AIFT5E: 2R31B KR IRATIR

SH7E SHBE
3E 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
=| e e (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.20 | M| | &9A | 0.25 | MW | B8 | 0.35
2 | me B8 025 | me | B8 0.25 | ®mE | B8 | 0.45
| 3 | ®me =8 025 | ®mE& | =89 0.20 | \|E | EH | 0.30
4 | me B 025 | me | B8 0.20 | |E | B8 | 0.20
| 5 | ®me =8 025 | ®E | =89 | 0.25 | |E | EB | 0.25
6 | me B8 | 0.20 | ®mE& | B8 | 0.20 | |E | B | 0.25
| 7 | me& =8 020 | ®E | =8| 0.25 | \E | EH | 0.25
8 | me B8 | 025 | m& | B8 | 0.25 | ®|E | B | 0.25
| o | me =8 | 025 | ®Ee | =89 | 0.25 | |E | EH | 0.20
10 | e | B8R | 0.25 | & | B0 | 0.20 | |®E | &M | 0.25
|11 | me | =88 | 025 | ®E& | =89 | 0.20 | & | EB | 0.25
12 | e | B0 0.30 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 030 | ®E | =89 | 0.20 | |®E | EB | 0.25
14 | e | B0 | 0.25 | e | B0 | 0.20 | W& | BB | 0.20
|15 | ®e | =88 | 0.25 | ®E | =89 | 0.25 | |E | EH | 0.20
16 | e | #0A | 0.30 | M | 0 | 0.25 | @& | BB | 0.20
|17 | e | =8 | 025 | ®E | =89 | 0.25 | |E& | EH | 0.20
18 | e | B | 0.25 | M | B0 | 0.25 | @& | BB | 0.20
|19 | ®& | =88 | 025 | ®E | =89 | 0.20 | |®E | EB | 0.25
20 | me | B8 | 0.20 | MmE | B8 | 0.20 | e | BB 0.25
21 | me | #8025 | ®E | =89 | 0.20 | |BE | EB | 0.25
2 | me | B8R | 0.25 | Mme | B8 | 0.20 | M | B8 | 0.30
23 | me | #8025 | ®E | =8 | 0.25 | |E | EB | 0.25
24 | me | B8R | 0.25 | Mme | B | 0.25 | e | B8 | 0.20
|25 | me | #8025 | ®E | =89 | 0.20 | |®E | EB | 0.20
26 | me | B8R | 0.20 | e | B | 0.20 | e | E8A | 0.20
27 | e | =88 | 0.25 | ®E | =89 | 0.20 | |®E | EH | 0.20
28 | me | B8R | 0.25 | e | B | 0.20 | e | B8 | 0.20
|20 | ®& | =88 | 0.20 | ®E | =89 | 0.25 | |®E | EB | 0.25
30 | me | &R | 0.20 | mE | BB | 0.25 | MmE | BB 0.25
31 | me BH 030 |~~~
o nbonbontb—- B2 B2 B2 B2 B2 B2 B2 B2
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.24
BA] 0.45
) 0.20




SH7¥6E SHRBEDER p. 352

Bkl B

Bok3g: £ FKHES:  _EFLFKS IFFSE: ER3E KR HWOR

SH7E SHBE
ES 458 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
Kl & [&D (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®E& | &9 | 0.20 | M| | &9A | 0.30 | M | B8 | 0.35
2 | me B8 020 | ®me | B8 0.30 | ®E | B8 | 0.35
| 3 | ®me =8 020 | ®E | =89 | 0.30 | BE | BB | 045
4 | me B 020 | me | B89 0.20 | |E | EEA | 0.30
|5 | ®m& =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.25
6 | me B8 | 0.20 | ®mE& | B8 | 0.25 | ®|E | B | 0.25
| 7 | me& =8 020 | ®E | =89 | 0.20 | |®E | EB | 0.20
8 | me B8 020 | mE B8 0.25 | |E | B8 | 0.20
| o | e =8 | 025 | ®E | =89 | 0.20 | |®E | EB | 0.25
10 | e | B0 | 0.20 | ME: | E0A | 0.25 | @& | BB | 0.20
|11 | ®me | =89 | 0.20 | ®E | =89 | 0.25 | |E | EH | 0.20
12 | e | B0 0.20 | M | B0 | 0.25 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =89 | 0.30 | |E | EH | 0.20
14 | me& | B0 0.20 | e | B0 | 0.30 | ®E | & | 0.25
|15 | ®e | =88 | 0.25 | ®E | =89 | 0.25 | |\E | EH | 0.30
16 | e | 0 | 0.25 | M | B0 | 0.25 | @& | &8 | 0.30
|17 | e | =8 | 0.20 | ®E | =89 | 0.20 | & | EB | 0.30
18 | e | B | 0.25 | M | B0 | 0.20 | @& | BB | 0.30
|19 | ®me | =88 | 025 | ®E | =89 | 0.20 | |®E | EB | 0.30
20 | me | &8 | 0.25 | e | B | 0.20 | e | E8A | 0.30
21 | me | #8025 | ®E | =89 | 0.30 | |E | EH | 0.30
2 | me | &) | 0.25 | me | B8R | 0.30 | Mme | BB 0.35
23 | me | =89 | 0.20 | ®E | =8 | 0.25 | |BE | BB | 045
24 | me | B8R | 0.20 | e | B | 0.30 | e | B8 | 0.30
|25 | m& | =89 | 0.20 | ®E | =8 | 0.25 | |E | EB | 0.25
26 | me | B8R | 0.20 | Mme | B | 0.30 | e | B8 | 0.20
27 | e | =88 | 0.20 | ®E2 | =89 | 0.25 | |®E | EB | 0.20
28 | me | &I | 0.20 | me | B8 | 0.30 | MmE | BB 0.25
|20 | ®& | =88 | 0.25 | ®E | 8 | 0.30 | |E | EH | 0.20
30 | me | B8R | 0.25 | e | B | 0.30 | e | B8 | 0.20
31 | me BH 030 |~~~
7 L m e — — — — — —
Bx. . . .
=1 0.20 0.20 0.20
| & oo PEER
(mg/L)

1 0.25
BA] 0.45
/) 0.20




SH7¥6E SHRBEDER p- 353

oKt EE

ok EUKR HOKHESS:  ERKIS NIBFE:  2R3B. BER3E KR - #AEW)L. ZODFR. FEKE. KEKERE

SH7E SHBE
K 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
Al = (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®E& | &9 | 0.30 | M| | &9 | 0.25 | M | 388 | 0.40
2 | me B8 030 | mE& B8 0.25 | | | B | 0.40
| 3 | ®me =8 030 | ®E | =89 0.25 | |E | & | 0.40
4 | me B 030 | me | B 0.25 | |E | B8 | 0.35
|5 | ®m& =8 030 | ®E& | =89 0.20 | |E | EB | 0.35
6 | me B8 | 030 | ®mE& | B8 | 0.20 | |E | M | 0.35
| 7 | me& =8 030 | ®E& | =89 | 0.20 | |®E | EB | 0.35
8 | me B8 030 | mE& B8 0.20 | |E | B | 0.40
| o | ®me =89 030 | ®E | =89 | 0.25 | \E | EH | 0.40
10 | e | 0 | 0.30 | M | B0 | 0.25 | @& | BB | 0.40
|11 | me | =89 | 030 | ®E | =89 | 0.20 | |E | EB | 0.40
12 | me | B8 | 0.25 | |me | B0 | 0.20 | ®E | &) | 0.15
|13 | ®me | =8 | 025 | ®E& | =89 | 0.20 | |®E | EB | 0.15
14 | me | B0 | 0.25 | e | B0 | 0.20 | @& | B8 | 0.30
|15 | ®e | =88 | 0.25 | ®E | =89 | 0.25 | |\E | EH | 0.30
16 | e | #0A | 0.25 | M | 0 | 0.25 | @& | B8 | 0.20
|17 | e | =8 | 0.25 | ®E& | =89 | 0.30 | |E | EH | 0.20
18 | e | BB | 0.30 | M | BB | 0.30 | |®E | &M | 0.35
|19 | ®m& | =88 035 | | | =8| 0.15 | |E& | E=H | 0.35
20 | me | B8 | 0.35 | Mme | B8 | 0.15 | Mme | BB | 0.35
21 | me | #8035 | | | =89 | 0.30 | |E | EH | 0.35
22 | me | &) | 0.30 | me | B8R | 0.30 | me | BB 0.35
23 | me | =89 030 | ®E | =8 | 0.40 | |E | BB | 0.35
24 | me | B8R | 0.25 | MmE | B | 0.40 | e | B8 | 0.30
|25 | m& | =88 | 0.20 | ®E | 89 | 0.35 | |\E | EH | 0.30
26 | me | B8R | 0.25 | Mme | B | 035 | e | B8 | 0.30
27 | e | =88 | 0.25 | ®E | =89 | 0.30 | |E | EH | 0.30
28 | me | B8R | 0.25 | e | B | 0.30 | e | #8A | 0.30
|20 | me2 | =88 | 0.25 | ®E | 89 | 0.35 | |E | EH | 0.30
30 | me | ®8A | 0.30 | Mme | B | 035 | e | B8 | 0.30
31 | mE | B | 0.40
BA] 0.35 0.40 0.40
=1 0.20 0.15 0.15
| & oo PEER
(mg/L)

1 0.29
BA] 0.40
) 0.15




SH7¥6E SHRBEDER p- 354

wokis: RS

Bk3g: REKR HOKHESR: RESKS NIBFE:  2R3B. BER3E KIE . TRJR

SH7E SHBE
5] 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
E| =) (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 | ®& | &9 | 0.25 | | | &9 | 0.40 | MW | 388 | 0.35
2 | me | #8| | 030 | e | B8 | 0.40 | e E8H | 0.40
| 3 | ®me =8 030 | ®E | =89 | 040 | \|E | EH | 0.40
4 | me | B 030 | me | B 040 | MmE | B8 | 0.30
|5 | ®m& =8 030 | ®E | =89 | 040 | |E | EH | 0.30
6 | me B8 | 030 | ®mE& | B8 | 040 | |E | BH | 0.35
| 7 | me& =8 030 | ®E& | =89 | 0.35 | |E | EH | 0.35
8 | me B8 030 | mE& B8 0.35 | |mE | B | 0.40
| o | ®me =8 030 | ®E& | =8| 0.35 | |E | EH | 0.40
10 | e | 0 | 0.30 | M | B0A | 0.35 | @& | BB | 0.40
|11 | ®me | =89 030 | ®E& | =89 | 0.30 | |E | EH | 0.40
12 | e | B8 | 0.35 | M | B0 | 0.30 | W& | BB | 0.20
|13 | ®me | =89 | 035 | | =89 | 0.30 | |E | EH | 0.20
14 | me | B0 0.35 | mE | B0 | 0.30 | ®E& | &I | 0.35
|15 | ®& | =89 | 035 | | | =89 | 0.30 | |E | EB | 0.35
16 | e | B0 | 0.35 | & | B0 | 0.30 | ®E | &M | 0.25
|17 | e | =89 | 035 | ®E | =89 | 0.30 | |E& | EH | 0.25
18 | e | B | 0.35 | M | B0 | 0.30 | @& | &M | 0.30
|19 | ®me | =88 035 | ®E | =89 | 0.25 | |E& | EH | 0.30
20 | me | B8 | 0.35 | MmE | B8 | 0.25 | e | BB | 0.35
21 | me | #8035 | | | =89 | 0.30 | |E | EH | 0.35
22 | me | &R | 0.35 | me | B8 | 0.30 | Mme | BB 0.35
23 | me | #8035 | ®E | =89 | 0.30 | |E | EH | 0.35
24 | me | B | 0.35 | M | B8 | 0.30 | me | BB 0.25
|25 | me | #8035 | | | =8 | 0.15 | |E& | &8 | 0.25
26 | me | &8 | 0.35 | MmE | B8 | 0.15 | M| | BB | 0.35
27 | e | =89 | 035 | ®E | =8 | 0.25 | |®E | EB | 0.35
28 | me | @A | 0.35 | Mme | B8 | 0.25 | Mme | BB | 0.35
|20 | m& | =88 | 035 | ®E | 89 | 0.30 | & | EB | 0.35
30 | me | &8 | 0.35 | MmE | B8 | 0.30 | Mme | BB 0.35
31 | me B 035 |~~~
7 T e e e e [ O [~ o~ o —
Bx. . . .
=1 0.25 0.15 0.20
| & oo PEER
(mg/L)

1 0.32
BA] 0.40
) 0.15




SH7¥6E SHRBEDER p- 355

oKt ES

i\ ETH EI=VEN KNGS : EI=yy e IFFSE: ER3E KR . R

SH7E SHBE
& 45 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S| (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L)
1 | ®E& | &9 | 0.30 | M| | &9A | 0.30 | M | 88 | 0.35
2 | me B8 030 | mE& B8 0.30 | |mE | B | 0.40
| 3 | ®me =8 030 | ®E | =89 0.25 | |E | & | 0.40
4 | me B 030 | me | B 0.25 | |E | B8 | 0.25
|5 | ®m& =8 030 | ®E& | =89 | 0.30 | |E | EB | 0.25
6 | me B8 030 | mE& B8 0.30 | |E | B8 | 0.40
| 7 | me& =89 030 | ®E& | =89 | 0.20 | |E | EH | 0.40
8 | me B8 030 | mE& B8 0.20 | |E | B | 0.40
| o | e =8 030 | ®E& | =89 | 0.30 | |E | EH | 0.40
10 | e | BB | 0.25 | e | B0 | 0.30 | |®E | &M | 0.35
|11 | me | =8 | 025 | | | =89 | 0.25 | |E | EB | 0.35
12 | e | B0 0.30 | mE | B0 | 0.25 | mEe | &)\ | 0.25
|13 | ®me | =89 | 030 | ®E | =89 | 0.20 | |®E | EB | 0.25
14 | me | B0 0.30 | mE | B0 | 0.20 | ®E | & | 0.35
|15 | ®& | =89 | 0.30 | ®E& | =89 | 0.30 | |E | EB | 0.35
16 | e | B0 | 0.30 | M | B0 | 0.30 | ®E | &M | 0.25
|17 | e | =89 | 035 | ®E | =89 | 0.30 | |E& | EH | 0.25
18 | e | BB | 0.35 | M | B0 | 0.30 | |®E | &M | 0.35
|19 | ®me | =88 035 | | | =89 | 0.20 | |®E | EB | 0.35
20 | me | B8 | 0.35 | MmE | B8 | 0.20 | Mme | B 0.35
21 | me | #8035 | | | =89 | 0.25 | |E | EB | 0.35
22 | me | &) | 0.35 | me | B8R | 0.25 | Mme | B8 0.35
23 | me | #8035 | ®E | =89 | 0.25 | |E | EH | 0.35
24 | me | ®A | 0.35 | WM | B8 | 0.25 | mEe | BB 0.25
|25 | me | #8035 | | | =8 | 0.15 | |E& | &8 | 0.25
26 | me | &8 | 0.35 | MmE | B8 | 0.15 | M| | BB | 0.35
27 | e | =89 | 035 | ®E | =8 | 0.25 | |®E | EB | 0.35
28 | me | @A | 0.35 | Mme | B8 | 0.25 | Mme | BB | 0.35
|20 | m& | =88 | 035 | ®E | =8 | 0.25 | |®E | EB | 0.35
30 | me | @A | 0.35 | MmE | B8 | 0.25 | Mme | BB 0.35
31 | me B 035 |~~~
7 I m e e e e [ O o~ o~ o —
Bx. . . .
=1 0.25 0.15 0.25
| & oo PEER
(mg/L)

1 0.30
BA] 0.40
) 0.15




SH7¥6E SHRBEDER p. 356

Bkl iE

i\ ETH PT KNGS : PIHTFIKIG WIBFE: 2R3B KR DILRYR. £ RIRUALE)

SH7E SHBE
X 45 58 68 78 8H 98 108 118 128 1A 28 38
. |EEBER . |EEBER o |EEBEE o |EEBER . |EEBEE . |EEBEE . |EEBEE . |EEBEE . |EEBER . |EEBER . |EEBEE . |EEBEE
K| & | BD (mg/L) & | &0 (mg/L) & [#&o (mg/L) & | &b (mg/L) &0 (mg/L) 2 (mg/L) 2 (mg/L) e | ®0 (mg/L) =2 (mg/L) A0 (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.25 | W | &9 | 0.25 | M | 388 | 0.40
2 | me B8 025 | me | B8 0.25 | ®mE | B8 | 0.35
| 3 | ®me =8 020 | ®E | =8| 0.15 | |E | EH | 0.35
4 | me B 025 | me | B 0.15 | |E | B8 | 0.30
|5 | ®me =8 025 | ®Ee | =89 | 0.25 | |E | EH | 0.30
6 | me B8 | 0.25 | mE& | B8 | 0.25 | |E | B8 | 0.35
| 7 | me =8 025 | W& | =89 | 0.20 | |®E | EB | 0.35
8 | me B8 025 | mE& B8 0.20 | |E | B0 | 0.40
| o | ®me =8 | 025 | ®E | =89 | 0.25 | |E | EH | 0.40
10 | e | B0 | 0.25 | e | B0 | 0.25 | mE | &I | 0.35
|11 | me | =88 | 025 | ®E | =89 | 0.20 | |®E | EB | 0.35
12 | e | B0 | 0.25 | M | B0 | 0.20 | @& | BB | 0.20
|13 | ®me | =89 | 0.20 | ®E | =8 | 0.25 | |E | EH | 0.20
14 | me | B 0.20 | mE | B0 | 0.25 | ®E | &)\ | 0.35
|15 | ®e | =88 | 0.20 | ®E | =89 | 0.25 | |®E | EB | 0.35
16 | & | #0A | 0.20 | M | E0A | 0.25 | @& | BB | 0.20
|17 | e | =8 | 0.25 | ®E& | =89 | 0.30 | |E | EH | 0.20
18 | e | B | 0.25 | M | B0 | 0.30 | W& | BB | 0.30
|19 | ®me | =88 | 025 | | | =8| 0.15 | |E& | EH | 0.30
20 | me | @m0 | 0.25 | me | B8R | 0.15 | Mme | BB | 0.35
21 | me | #8025 | ®E | =89 | 0.20 | |®E | EB | 0.35
2 | me | &) | 0.25 | me | B8R | 0.20 | Mme | BB 0.35
23 | me | =88 | 0.20 | ®E | =8 | 0.20 | |®E | EBY | 0.35
24 | me | B8R | 0.20 | e | 3B | 0.20 | e | E8A | 0.30
|25 | me | =89 | 0.20 | ®E | =89 | 0.15 | |\E | EB | 0.30
26 | me | B8R | 0.20 | e | B | 0.15 | e | B84 | 0.50
27 | e | =88 | 0.25 | ®E | =8 | 0.25 | & | EB | 0.50
28 | me | B8 | 0.25 | e | B | 0.25 | e | B8 | 0.50
|20 | ®& | =88 | 0.20 | ®E | 89 | 0.30 | & | EB | 0.50
30 | me | @A | 0.20 | MmE | B8 | 0.30 | MmE | B | 0.65
31 | me B 040 |~~~
7 I — w — — — — — — — — —
Bx. . . .
=1 0.20 0.15 0.20
| & oo PEER
(mg/L)

1 0.27
BA] 0.65
/) 0.15




SH7¥6E SHRBEDER p. 357

Bkt T

BokK3gE: & AUKHESR:  FEEALKi NiBFE: 1ERES KOE . KR

SH7E SHBE
B 458 58 68 78 8H 98 108 118 128 1A 28 38
. |REBER . |mEBER . |mEBER . |mEBER . |mERER . |mEBER . |EBER . |ERER . |mEBER . |mEBER . |EBER . |mERER
S (mg/L) = (mg/L) = (mg/L) = (mg/L) D (mg/L) D (mg/L) D (mg/L) = (mg/L) D (mg/L) D (mg/L) = (mg/L) = (mg/L)
1 | ®& | &9 | 0.35 | M| | &9 | 0.30 | M | 388 | 0.40
2 | me B8 035 | me | B8 0.30 | ®E | B8 | 0.35
| 3 | ®me =8 035 | ®E& | =89 0.30 | |E | EH | 0.35
4 | me B 030 | me | B8 0.30 | |E | B8 | 0.35
|5 | ®me =8 030 | ®E | =89 | 0.25 | |E | EB | 0.35
6 | me B8 | 030 | ®mE& | B8 | 0.25 | ®mE | B8 | 0.35
| 7 | me& =8 035 | ®mE& | =89 | 0.25 | \|E | EH | 0.35
8 | me &8 | 035 | me& | B8 | 0.25 | ®mE | B | 0.35
| o | ®me =8 | 035 | ®E& | =89 0.25 | |E& | EB | 0.35
10 | e | B0 | 0.35 | e | B0 | 0.25 | |®E& | &I | 0.35
|11 | me | =89 | 035 | | | =89 | 0.25 | |E& | EB | 0.35
12 | me | B8 | 0.35 | me | B8 | 0.25 | me | &I | 0.35
|13 | ®me | =88 | 035 | ®Ee | =89 | 0.25 | |\E | EB | 0.35
14 | me | B0 0.35 | mE | B0 | 0.25 | me | & | 0.35
|15 | ®e | =88 | 035 | | | =8 | 0.25 | |®E | EB | 0.35
16 | e | B0 | 0.35 | e | B0 | 0.25 | |mE | & | 0.35
|17 | e | =8 | 035 | | | =89 | 0.25 | |E& | EB | 0.35
18 | e | B | 0.30 | M | B0 | 0.25 | @& | ®H | 0.30
|10 | ®e | =88 | 0.20 | ®E | =89 | 0.25 | |®E | EH | 0.30
20 | me | B8 | 0.20 | Mme | BB | 0.25 | e | BB 0.25
21 | me | #8020 | ®E | =8 | 0.25 | |®E | EB | 0.25
2 | me | &) | 0.20 | me | B8R | 0.25 | Mme | BB 0.25
23 | me | =89 | 0.20 | ®E | =8 | 0.25 | |BE | BB | 0.25
24 | me | ®A | 0.20 | mE | B8R | 0.25 | MmE | BB 0.25
|25 | ®e | #88 | 0.20 | ®E | 8 | 0.40 | |BE | EB | 0.25
26 | me | B | 0.25 | mE | BB | 0.40 | MmE | BB 0.25
27 | e | =88 | 0.25 | ®E | =8 | 0.40 | |E | EB | 0.25
28 | me | @A | 0.30 | WM | BB | 0.40 | MmE | BB 0.25
|20 | m& | =89 | 0.30 | ®E | =8 | 0.40 | |BE | EB | 0.25
30 | me | &8 | 0.30 | mE | B8 | 0.40 | MmE | BB | 0.35
31 | mE | B | 0.40
BA] 0.35 0.40 0.40
=1 0.20 0.25 0.25
| & oo PEER
(mg/L)

1 0.30
BA] 0.40
) 0.20




